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PREFACE

Hacrosimee yueOHOe mocoOue mnpeaHa3sHAa4eHoO ISl CTYICHTOB
texuudeckoro By3a YI'CH 140000 «DnepreTuka, >SHEPreTHYECKOE
MAaIIMHOCTPOCHUE U AJEKTPOTEXHHUKA», U3YYAIOIIUX aHTJUUCKUAN SI3bIK Ha
| Kypce u umeromux 6a30BYI0 MIKOJbHYIO MOJATOTOBKY MO MHOCTPAHHOMY
S3bIKYy. Y4eOHOe Toco0re COCTOUT U3 6 YPOKOB U pacCuMTaHO Ha 68 4yacoB
AyIUTOPHBIX 3aHATUA U 76 YacoB BHEAYAUTOPHOW CaMOCTOSITEIIBHOM
paboOThHI CTYICHTOB

OCHOBHOI 11€J1bI0 TOCOOUS ABISETCS (POPMUPOBAHUE U PA3BUTHE Y
CTYJICHTOB JIMHTBONPO(ECCUOHATFHON KOMIIETEHTHOCTH, T.€. OOy4YeHUe
pa3IMYHBIM  BUJAMH  YTEHUS -  HM3YYalolllero, IOUCKOBOTO U
MIPOCMOTPOBOI0; OOYUEHHE COBPEMEHHBIM IIpHEMaM IEepPeBOJa HAYYHO-
TEXHUYECKON JIUTEPATyphl; OOyUYEHHE KaK MHUCbMEHHOW, TaK U YCTHOM
dopme oOmenmss B cdepax mnpodeccrnoHaTbHOM W OBITOBOM
KOMMYHUKALUN.

YuyebHoe mocobme pa3paboTaHO HA OCHOBE OPHUTHHAIBHBIX
TEXHUYECKUX TEKCTOB MO HU3y4aeMoOW cHeuuanbHOCTU. Jlornueckas
MOCJIEI0OBATEILHOCT, U COJAEp)KaHHWE YuyeOHOro marepuana (QopMUPYIOT
HavyaJbHBIC TPEACTaBICHUE O Oyaymier mnpodeccuu U COOTBETCTBYIOT
MPUHLNTIAM npo¢dheCcCUOHATBLHO-OPUEHTUPOBAHHOTO 00yUYeHHs
WHOCTPAHHBIM si3bIKaM. Kaxkawplii TeKCT UWH(POPMATUBEH, COACPKUT
HEOOXOJUMBIE CJIOBAapHbIE E€IUHUIBI U TEXHUYECKYI0 TEPMHUHOJIOTHUIO,
oTpaxatomue cneunupuky Oyaymed mnpodeccur, YTO TOBBIIIAET
MOTHBAIMIO U3YUYCHHUS SI3BIKA.

Pa3HooOpa3Hble 10 COJEPKAHUIO JIEKCHUYECKHE  YIPaKHEHUS
CIIOCOOCTBYIOT 3aKpEIJICHUI0 W PACUIMPEHUIO CJIOBApHOIO 3araca
ctyaeHTta. Kaxaeiii ypok 0a3zupyercs Ha ONpeeIeHHOW rpaMMaTHYeCKO
TEeME U BKIIOYAET [UJIAKTUYECKHUE €JUHULBI, COOTBETCTBYIOIIUE
COJICP)KAHUIO M3Y4YaeMbIX y4YEOHBIX MOJyJIEH MO JaHHOMY HaIpaBJICHHUIO
MOJATOTOBKH.

Jluckyccuu, poJeBbl€ UTPbl U JPYyTHUE MPUEMbl UHTEPAKTUBHOIO
oOyueHus 3aTparuBaroT chepy npodeccrnoHaTbHO-TUYHOCTHBIX HHTEPECOB
CTYJICHTOB U PACIIUPSIOT 007aCTh MPUMEHEHHS TTOTYyUYCHHBIX 3HAHH.

CoaeprkaHue HacTOSAMIEr0 yueOHOro nmocodust coorserctByer ®I'OC
BIIO YI'CH 140000 «29Hepretuka, SJHEPTETUUECKOE MAIIMHOCTPOCHUE U
AICKTPOTEXHUKAY.



LESSON 1
Text A. THE CONCEPT OF ELECTRICITY

Mankind has been interested in electricity though out the ages.

Thrilled and mystified by lightning people have tried to learn about
the force behind it for hundreds of years.

Electricity is invisible, and it is difficult to comprehend something
you cannot see. It took scientists and researches a lot of time and effort to
find out and state the basics of electrical phenomena in order to obtain a
sound knowledge of electrical theory based on characteristics and behavior
of electricity.

4®7 e

- ——
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At present the nature of electrification is explained by the electron
theory. The most essential point is that electrical current is a flow of
electrons, which are negatively charged particles that orbit the nucleus of
an atom.

Normally, an atom has the same number of protons (positively
charged particles in the nucleus) as electrons (negatively charged
particles), so they balance each other out.

But if an electron is taken away by a chemical reaction, magnetic
induction, or friction, the atom becomes a positive ion. When an electron
Is added, the atom turns into a negative ion. Electrons move from negative
ions to positive ions thus filling the voids, and this movement is at nearly
by the speed of light, which is 300,000 kilometres per second..



In fact, electricity can be defined as a means of moving energy from
one place to another.

If you push one electron into wire, one will come out at the other
end.

Electrical theory is mostly based on this major principle: Electrons
are not created or destroyed when current is made and used; they just
circulate.

Useful Terms and Phrases:

mankind YEIIOBEUECTBO
force cuiia
lightning MOJTHHS
invisible HEBUIUMBIA
to comprehend TOHUMATh
phenomenon SIBJICHUEC
sound IPOYHBIN
behavior TIOBEICHHE
electrical current IICKTPUYCCKHUH TOK
nucleus SATIPO

number YHCIIO

to add 100aBIIATH
void MyCcTOTa

I. Find in the text:

1. international words;
2. electrical terms.

I1. Find the English equivalents in the text to the following:

Ha IPOTSAKCHHUHN BCKOB, CO CKOPOCTBIO CBCTA, 3AllOJHATH IIYCTOTHI,
ITPOYHBIC 3HAHHUA, JICKTPUIYCCKHUC ABJICHUA.

I11. Translate into Russian the following word combinations:

thrilled and mystified by lightning, the nature of electrification,
characteristics and behavior of electricity.



IVV. Which word is odd here?

- to understand, to confuse, to comprehend, to grasp;
- unseen, invisible, imperceptible, apparent;

- weakness, force, strength, vigor;

- manner, misconduct, behavior, line of action.

V. Answer the following questions:

A .

VI.

1.
2.
3.

What has mankind been interested in for ages?

Why is it so uneasy to understand electrical phenomena?

What theory is used to identify the nature of electrical current?

What happens to an atom if an electron is taken away and vice versa?
How can electricity be defined?

Make up sentences observing the word-order rules:
to, breakfast, I, after, the, Institute, go.

I, in, now, must, am, morning, the, and, get up, student, early, a, and.
at 8:30 a.m., end, and, start, classes, at 3:20 p.m.

VII. Read and translate the sentences. Comment on the words in bold type:

©Wo~NoawdE

The news doesn’t surprise me.

The scissors are blunt.

The goods have arrived.

Your advice is very timely. Thank you.
Physics is my favorite subject.

There are many fish in this river.

Fruit is rich in mineral salts and vitamins.
Strange phenomena happen on that planet.
The nuclei of heavy metals are different.

VIII. Insert a proper verb form:

1.
2.
3.

My friend (to be) a student.
Our lectures (to begin) at 8:30 a.m. tomorrow.
We (to get) these books from the library last week.

8



She (to be) in Italy last year.

Students (to have) five exams next summer.

When I (to come) home, my mother (to cook) dinner.
| (to lie) on the beach this time next summer.

| never (to be) to Great Britain.

She (to finish) the work by 5 o’clock tomorrow.

She (to translate) a very difficult text before he came.

. Put in the right answer:

. Do you remember ... facts from your school life?

a)some b)any c¢)no

. We don’t have ... information on this problem.

a)some b)any c¢)no

. ... young men are students.

a) This Db) Its c) These

. I'read ... article long ago.

a) these b)that c) those

. This is ... watch and that is ... .

a) mine, her  b) hers, my ¢) my, hers

. There is ... light in the sitting room.

a) few Db)afew c) little

. He has ... friends.

a)afew Db)little c)a little

. Show ... your new flat.

a) themselves b) them c) they

Text B. TYPES OF CURRENTS

Current is a flow of electricity through a circuit. Let us consider two

main types of current: direct and alternating. A direct current (d. c.) flows

9



through a conducting circuit in one direction only. It flows provided a
direct voltage source is applied to the circuit.

An alternating current (a. c.) is a current that changes its direction of
flow through a circuit. It flows provided an alternating voltage source is
applied to the circuit. An alternating current flows in cycles. The number
of cycles per second is called the frequency of the current. In a 60-cycle
alternating current circuit the current flows in one direction 60 times and in
the other direction 60 times per second.

It is easy to transform a. c. power from one voltage to another by a
transformer. Transformers are also used to step down the voltage at the
receiving point of the line to the low values that are necessary for use.

When necessary a. ¢. can be changed into d. c. but this is seldom
necessary.

Useful Terms and Phrases:

flow [IOTOK, TEYECHHUE
to flow TEYb

to consider paccMaTpuUBaTh
circuit LENb
alternating TIepEeMEHHBIH
direct MOCTOSTHHBIH
cycle 1005009)

direction HaTpaBJICHUEC
per second B CEKYHIY
frequency 4acToTa

I. Please indicate which sentence corresponds to the text:

1. a) A d.c. is a current that changes its direction of flow.
b) A d.c. is a current that flows in one direction.
c) A d.c. is a current that never flows in one direction.

2. a) An a.c. flows provided a direct voltage source is applied.

b) An a.c. flows provided an alternating voltage source is applied.
c¢) An a.c. flows provided a combined voltage source is applied.

10



3. a) In an alternating current circuit a current flows 60 times per second
in one direction.
b) In an alternating current circuit a current flows 60 times in one
direction and in the other direction 60 times per second.
¢) In an alternating current circuit a current flows 60 times in one
direction and fails to flow in the other direction.

I1. Find the English equivalents in the text to the following:

OpU  YCIIOBUHM, KOJWYECTBO LHMKJIOB, YacTOTa TOKA, IOHWKATh
HaIpsHKEHUE, pACCMOTPHUM.

I11. Translate into Russian the following word combinations:

when necessary, the receiving point of the line, the frequency of the
current, through a circuit.

IV. Match the words in both columns:

to change HEOOXOTUMBII
source HU3KHUU
voltage MPUMEHSATH
low UCTOYHUK
necessary HaIPSDKCHHE
to apply BEITMYMHA
value W3MEHUTD

V. Answer the following questions:

What is current?

What types of currents do you know?

When does a direct current flow?

What type of current is called an alternating current?
What type of current is called a direct current?

SAE N .

V1. Determine the main idea of the text:

-

. A double-current nature of electricity.
2. The application of specific voltage sources.

11



3. Transformation of a.c. into d.c.
VII. Fill in the articles “a” or “the”:

Russia is ... greatest country in ... world.

I am studying to become ... engineer.

| liked ... film I saw yesterday.

... Earth is millions of kilometers from ... Sun.

Rubtsovsk is not ... small town in Siberia.

I’1ll be back in ... hour.

She is such ... clever student.

... water in this river is very cold today.

This is ... most interesting book I have read on this subject.
As ... rule I do homework in ... evening.

Coo~Nook~wdE

[EEN

VIII. Fill in the proper verb:

1. There (is/are) 12 students in our group.

2. There (was/were) little snow last winter.

3. (Arelis) there a good cinema in your town?

4. There (was/were) a big sofa and four arm-chairs in the sitting room.
5. There (has/have) been a steep rise in prices recently.

12



LESSON 2

Text A. SERIES CIRCUITS AND PARALLEL CIRCUITS

R Rz Compare circuits A and B. Circuit
— . A consists of a voltage source and two
A | resistors. The resistors are connected in
+ | - series. Circuit A is a series circuit.
il Circuit B consists of a voltage
L source and two resistors. The resistors
L1 are connected in parallel. Circuit B is a
® | parallel circuit. A parallel circuit has the
M main line and parallel branches.
— | S I In circuit B the value of voltage in
RI equals the value of voltage in R2.
© | The value of voltage is the same in all
S the elements of a parallel circuit while
Rl the value of current is different. A
L] parallel circuit is used in order to have
b the same value of voltage.
0 | In circuit A the value of current in
M RI equals the value of current in R2. The

[
| value of current is the same in all the
elements of a series circuit while the value of voltage is different. A series
circuit is used in order to have the same value of current. In circuit C a
trouble in one element results in no current in the whole circuit. In circuit
D a trouble in one branch results in no current in that branch only. A
trouble in the main line results in no current in the whole circuit.

Useful terms and Phrases:

to compare CpaBHUBATH

value BEJIMYNHA

series [I0CJIEJOBATEIbHEIN
to equal pPaBHATHCS

in order to IUIS TOTO, YTOOBI
main TJIaBHBIN

the same TOT K€ CaMbIi

line JIAHUSA

13



voltage drop najcHUe HAMPsHKESHUS

I. Make up sentences from the following phrases:

1. A series circuit ... has |a. from a trouble in the main line.
2. A parallel circuit ... b. in order to have the same value of
IS used current.
3. No current in a parallel c. the main line and parallel branches.
circuit ... results
4. In a parallel circuit a d. in no current in that branch only.
trouble in one branch

I1. Fill in the blanks with missing words given in brackets:

1. Resistors connected ... have different values of ... , while resistors ...
in parallel have ... value of voltage. (the same, voltage, connected, in
series)

2. A ... in one element of a series circuit results in no ... in the whole
circuit, while a trouble in one element of a ... circuit results in no
current in that ... only. (parallel, trouble, branch, current)

3. ... to have the same value of current in all elements a ... circuit IS
used, while in order to have the same ... in all elements a ... circuit 1s
used. (value of voltage, series, parallel, in order)

4. No current in a parallel ... results from a trouble in the main ... while
no current in a ... circuit results from a trouble in ... element. (one,
series, circuit, line)

[11. Find the translation of the words in the right column:

to connect LEIb

to consist pa3IMYHBINA

value MCTOYHUK HAIPSIKCHUS
current COCIUHATD

circuit COCTOSITh

different BEJIMYMHA

voltage source TOK

14



IV. Find the English equivalents in the text:

COCJIMHEHBI TTapajyI€IbHO, OTBETBJICHUS, PABHATHCS, BEJIMYMHA
HANPSDKEHUS, BEIMYMHA TOKA, BO BCEH LICTIH.

V. Answer the following questions:

1. What type of circuit has the main line and parallel branches?
2. What type of circuit is used in order to have the same value of current
in all the elements?

3. What type of circuit is used in order to have the same value of voltage
in all the elements?

. What does a trouble in the main line result in?

. What does a trouble in a branch result in?

. What does no current in a series circuit result from?

. What is the difference between series and parallel circuits?

~N o O b~

V1. a) Discuss advantages and disadvantages of a series circuit.
b) Discuss advantages and disadvantages of a parallel circuit.
VII. Find out which sentence corresponds to the text:

a) The circuit consisting of a voltage source and two resistors is a parallel
circuit,

b) The circuit consisting of a voltage source and two resistors connected in
parallel is a parallel one.

¢) The circuit consisting of a voltage source and two resistors connected in
series forms a parallel circuit.

VIII. Put in the right answer:

1. She is the ... student of our group.
a) best b) better c¢) good

2. Socrates was ... Greek of all.
a) awiser b) the most wise ) the wisest d) more wise

3. That was ... day in my life.

15



a) worse Db) the worst ¢) the baddest d) the most worst

4. Let’s discuss ... news a little bit ... , shall we?
a) the last, late  b) the lastest, later  c) the latest, later

5. This is ... building in our town.
a) an older b) the eldest c¢) the most old  d) the oldest

6. He is ... son in the family.
a) the oldest  b) the eldest c) the most old  d) an older

7. To my mind Pushkin is ... talented than Lermontov.
a) more b) better c) least d) further

8. Annis ... to us than Maxim.
a) the most friendly  b) friendlier  ¢) more friendly d) friendly

9. Do you speak English ... German?
a) better Db)asgoodas c)aswellas d)worse

10. He wants to buy ... car.
a) not so expensive  b) a most expensive
c) the expensive d) as much expensive

Text B. PRACTICAL UNITS

The main units in electrical engineering are those relating to current,
pressure or voltage, resistance, power and energy. As we know an
electrical current is a flow of electrons along specified conductors. It is an
electrostatic force that pushes current around a circuit.

You can call it voltage potential, or the difference in the pressure on
the electrons between the two ends of the circuit.

One volt (named after the Italian scientist and Count Alessandro
Volta, 1745-1827) is the force needed to push one ampere through one
ohm. Or, one volt equals the difference in electrical potential between two
points on a wire carrying a constant one-ampere current when the power
dissipated between the points is one watt.

16



An ampere (which appellation commemorates the French
mathematician A.M. Ampere, 1775-1836), commonly referred to as an
“amp”, is cuolomb per second. A cuolomb is a charge of six quintillion
electrons (that is, a six followed by 15 zeros). To put it another way, it is
the quantity of electricity that is moving, somewhat like the number of
litters or gallons a water hose can supply per second.

One ohm (from the German physicist Georg Simon Ohm, 1787-
1854) is the resistance to electron flow that is present if moving one
ampere through the resistor and produces a one-volt drop. In other words,
one ampere requires one volt to be forced through one ohm. To continue
our hydraulic illustration, it can be likened to a restriction in a water hose.

Watts (after Scottish engineer James Watt, 1736-1819) are similar to
horse power. In fact, one horse power translates into 745 watts. One watt is
a unit of power equal to one joule per second, a joule being a unit of
energy equal to the work done when one ampere is passed through one
ohm for one second. You can get watts by multiplying volts times amps.
So, a five ampere bulb on twelve volts is burning 60 watts.

In a circuit in which a steady direct current is flowing there is a direct
relation between the current, voltage, and resistance, temperature
remaining constant, and this is expressed by what is known as Ohm’s law.

The law is represented by the following equation:

| =E/R |- currentinamps
R — resistance in ohms
E — pressure in volts

You can calculate the ohms or resistance in the load by using the
formula ohms equal volts divided by amperes.

Useful Terms and Phrases:

unit SAMHUIA U3MEPECHUS

to relate to OTHOCHUTBCS K

resistance COITPOTUBIICHUE

power MOIITHOCTh

force cuia

pressure JABJICHHUC

scientist YYCHBIN

point TOYKA

to dissipate pacmpe/eisaTh, pacCeuBaTh

17



to commemorate

to refer to
cuolomb
charge
water hose
physicist
drop

to liken

a restriction
horsepower
joule

to multiply
relation
equation

I. Find in the text:

a) international words;

CIIy>KUTh HAaIIOMHHAHHEM
0003Ha4YaTh, CChUIATHCS

KYJIOH, CIMHHIA KOJINUYCCTBA JJI. 3apAaaa

3apsif

BOJSTHOU MUIAHT

du3uK
naJIcHUe
CpaBHHMBATH

nmomMexa, npeIsiTCTBUC
JJomaanHasg cujia

TKOYJTb
YMHOXaTh

3aBUCHUMOCTD

ypaBHEHUE

b) mathematical terms and units.

[1. Translate into Russian the following word combinations:

relating to, the force needed, the power dissipated between,

commonly referred to, to put it another way, a direct relation.

[11. Find the English equivalents in the text to the following:

HMCHHO DJJICKTPOCTATHYCCKAA CHUJIa IICpeMCIIacT TOK B ICIIH,

pa3HUIla SJIEKTPUYECKUX IOTEHIMAJIOB,
CpPaBHUTH C, OJIHA JI.C. PABHA, BBIPAYKACTCS YPABHECHUEM.

IV. Answer the following questions:

. How can an electrical current be defined?
. What pushes current around a circuit?

. What is a volt? Whom is it named after?
. What is an ohm? Whom is it named after?

1
2
3. What is an ampere? Whom is it named after?
4
5

18
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6.
7.
8.

What is a watt? Whom is it named after?
How can you get one watt?
What equation is used to demonstrate Ohm’s law?

V. Find out whether these sentences are true, false or have nothing to do

VI.

with the text:

. The water hose analogy is often used to help people visualize what

happens in a circuit.

. A hydraulic illustration seems to aid understanding electricity as a

volume of water in liters or gallons supplied per second by a water
hose.

. The hydraulic explanation fails to give a sound knowledge of the

electricity behavior.

Choose the right answer:

. He ... his job last month and since then he ... out of work.

a) lost, has been  b) lost, was c) lost, had been d) had lost, was

. When I ... at school, I often ... on case studies.

a) studied, had worked b) had studied, worked

c) studied, worked d) has studied, had worked
. Jane ... from Jim for a long time, but yesterday she ... to see him in
the street.
a) has not heard, had happened b) has not heard, happened
c) not heard, has happened d) hear, happens

. He ... some money last week. But [ am afraid he already ... it all.

a) has earned, has spent  b) earned, spent
c) had earned, had spent d) earned, has spent

. John ... a very interesting article yesterday but Jane ... not ... it yet.

a) read, has read b) has read, read
c) had read, has read  d) read, read

VII. Discussion.
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You continue learning English at the Institute. As you have already
realized the institute’s course of English is different from what you studied
at school. To a greater extent it is based on your future profession, it deals
with technical terms and engineering phenomena. Why do you think it is
important for a modern engineer to study a foreign language?

a) Read pros and cons given in the table. Think and give your reasons.

For

Against

1. I can learn more about my future
speciality and keep in touch with
latest technological innovations
by reading scientific journals and
papers.

2. | am sure to get a well-paid job in
a good company.

3. A good knowledge of English
ensures steady promotion.

4.1 can travel world-wide and
communicate freely with various
people.

1. It takes a lot of time and effort to
learn any foreign language.

2.Learning a foreign language is
just a waste of time since | may
find anything | need translated
into Russian in Internet.

3.There are a lot of professional
translators who can do this work.

4. Hi-tech gadgets have come to the
market. They are able to translate
any language.

b) Discuss the problem in groups of 3-5 students.

The following expressions may help you

to speak up your opinion:

As far as I am concerned...
I think ...

To my mind ...

I’d like to point out ...

To begin with ...

I have a remark ...

to agree with somebody:

Yes, | agree (with you).
You are quite right.
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| believe so.
It makes sense to me.

to disagree with somebody:
I don’t get the point.
It’s not (entirely) true.
| cannot agree with you.
I don’t think so.

¢) Fill in the chart and give your reasons for your decision.

Group 1 Group 2 Group 3

A future
engineer should +
study a foreign
language.

A future
engineer should
not study a
foreign language.

LESSON 3
Text A. METERS

Any instrument which measures electrical values is called a meter.
An ammeter measures the current in amperes. The unit is named after
Andre Marie Ampere, a French scientist, who discovered a great number
of facts about electricity over a hundred years ago. The abbreviation for
the ampere is amp. A voltmeter measures the voltage and the potential
difference in volts. The volt is named after Alessandro Volta, an Italian
scientist.

The most common meters used are the ohmmeter, the ammeter and
the voltmeter. The ohmmeter is used to measure the value of resistance. It
consists of a milliammeter calibrated to read in ohms, a battery and
resistors. The meter is connected in parallel and the circuit is not opened
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when its resistance is measured. The readings on the scale show the
measured value.

The ammeter is used to measure the value of current. When the
ammeter is used the circuit should be opened at one point and the
terminals of the meter should be connected to it. One should take into

il
o=

consideration that the positive terminal of the meter is connected to the
positive terminal of the source; the negative terminal — to the negative
terminal of the source.

The ammeter should be connected in series. The readings on the
scale show the measured value.

Useful Terms and Phrase:

meter U3MEPUTEIbHBIN TPUOOP
abbreviation COKpAITCHHE

to measure A3MEPATH

scale IIKaja

take into consideration NPUHATH BO BHUMaHUE
readings MOKa3aHus

terminal KJIeMMa

I. 1) Find out which sentence is not true:
a) The ammeter is a common meter.
b) The ammeter is a multi-purpose meter.
c) The ammeter is easy to use.

2) Find out which sentence is true:

a) In order to measure the value of current the ohmmeter is used.
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b) In order to measure the value of current the voltmeter is used.
c) In order to measure the value of current the ammeter is used.

3) Find out which sentence is not from this text:

a) When the ammeter is used the circuit should be opened.
b) The ammeter should be connected in series.

c) Digital ammeters are becom

ing common place now.

. Complete the sentence using the following endings:

. The ohmmeter is used to measure
the value of resistance ...

. The ammeter is connected in

series ...

When the ammeter is used to

measure the value of current the

circuit should be opened ...

a. while the ohmmeter should be
connected in parallel.

b. and the circuit should be closed
when the ohmmeter is used to
measure the value of resistance.

c. while the ammeter is used to
measure the value of current.

I11. Match the words given in columns:

to measure
common

in series
scientist
terminal

to connect
measured value

IVV. Which word is odd here:

V. Answer the following questions:

YUYEHBIN

COEIUHATH

KJIeEMMa

n3MepsieMasi BeTMIruHa
OOBIYHBIN

U3MEPSTH
II0CJIE€IOBATEILHO

common, typical, rare, wide-spread;

scholar, scientist, a man of learning, amateur;

to handle, to employ, to apply, to use, to neglect;
to disconnect, to join, to put together, to link.

1. What instrument is used to measure voltage?
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What instrument is used to measure current?

What instrument is used to measure resistance?

How many terminals has a meter?

How should an ammeter be connected with other devices in a circuit?
How must the voltmeter be connected with the load to be measured?
Must electrical power be disconnected when using an ohmmeter?

NOo Ok Wi

V1. Name the major idea of the text:

1. Application of various meters to measure electrical values.
2. How to measure the value of current.
3. How to connect different meters in order to measure electrical values.

VII. Insert a proper modal verb given below:

Who says A ... say B.

I know you ... do it because you have the courage.

Warm thoughts ... fill the day with sunshine.

I told him that he ... go home.

Law makers ... not be law breakers.

She ... be bad at music.

You ... learn to tolerate those of us who are rather more incompetent.
I ... find my purse anywhere,

You ... hurry. There is plenty of time.

. ... Iask you a question?

COo~Nop~wNE

|

may, can, might, should, must, cannot, must, can, needn’t, must

Text B. WATTMETER AND RHEOSTAT

A wattmeter is used to measure the value of power. It is connected to
the circuit directly. A wattmeter consists of coils: two fixed coils and a coil
which moves in the magnetic field produced by the fixed coils. Wire used
for the coils must have a high resistance; the fixed coils are in series with
the load, the moving coil is connected across the line in series with a
resistance. When a wattmeter is used, the readings on its scale show the
value of power being used.
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A rheostat is a resistor whose resistance value may be varied. Thus, a
rheostat is a variable resistor.

It is used to change the resistance of circuits, and in this way to vary
the value of current.

A rheostat consists of a coil and a switch. Take into consideration
that wire used for the coil must have a very high resistance. When a
rheostat is used its terminals are connected in series with the load. The
switch is used to change the length of the wire through which the
measured current passes. The resistance may be changed to any value from
zero to maximum.

The longer the rheostat wire used in the circuit is, the greater the
resistance is.

Useful Terms and Phrases:

coil KaTyIlKa

magnetic field MarHuTHOE T0JIC
wire MPOBO/I, POBOJIOKA
power MOITHOCTb
resistance COTIPOTHBIICHHE

to vary MEHSTH

I. Translate into Russian the following word combinations:

a wattmeter is used to measure, take into consideration, to any value
from zero to maximum, the measured current, in this way.

I1. Find the English equivalents in the text:

MMOKa3aHus Ha IIKaje, IPUMEHSECTCA ISl U3MEHEHUST COMPOTUBIICHUS
1[ETeH, BeJIMYMHA TOKA, IJIMHA MTPOBO/IA, MOCIEA0BATEIHLHO C HATPY3KOil.

I11. Match the words in both columns:

high resistance IOCTOSIHHAS KaTyIIKa
terminals noJje

a fixed coill HAKOHEYHUKH, KIIEMMBI
a load BBICOKOE COIIPOTHBIICHUE

25



vV

=

B w

V.

~NOoO o1k WwDN

V1.

|

Vi

1
2

VI

1

a field | Harpyska

. Make up sentences from the following phrases:
A wattmeter ... IS to change | a. in series with the load.
. The purpose of the consists of | b. to measure the value of
rheostat ... connected | power.
A rheostat ... Is used c. a coil and a switch.
The terminals of a d. the resistance of circuits.
rheostat ...
Answer the following questions:

. Why do we use a wattmeter?

. What does it consist of?

. How is it connected?

. What is a rheostat?

. What does it consist of?

. How can the resistance be changed by using a rheostat?
. What kind of readings appear on the scale of a rheostat?

Find out whether these sentences are true, false or have nothing to do
with the text:

. A rheostat is designed to regulate electrical current.

When using a rheostat its terminals are always connected in parallel
with the load.

The application of a rheostat is intended for a trouble shooting job in
electric circuits.

I. Sum up what the text says about:

. the wire in both the wattmeter and rheostat:;
. the function of a switch.

I1. Read and translate the following sentences. Comment on the use of
tenses:

. The train arrives at 10 o’clock tomorrow.
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| will call you as soon as | get home.

We are having guests tonight.

He is going to take part in a conference.

He will be reading a newspaper when we come back from work.
This time next year we shall be lying on the beach in Spain.

He will have finished his novel by end of this year.

| will have been playing tennis for two hours by the time he comes.
They will have moved to a new flat by March.

What are you going to do when you leave the university?

CoOo~N~wWN
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LESSON 4
Text A. ELECTRIC CELLS

An electric cell is used to produce and supply electric energy. It
consists of an electrolyte and two electrodes. Electrodes are used as
terminals, they connect the cell to the circuit — current passes through the
terminals and the bulb lights.

Cells can be connected in series, in parallel and in series- parallel. In
order to increase the current capacity cells should be connected in parallel.
In order to increase the voltage output cells should be connected in series.
In case a battery has a large current capacity and a large voltage output, its
cells are connected in series — parallel.

When cells are connected in series the positive terminal of one cell is
connected to the negative terminal of the second cell, the positive terminal
of the second cell- to the negative terminal of the third ... and so on.

A

When cells are connected in parallel their negative terminals are
connected together and their positive terminals are also connected.

27



In case a cell has a trouble it stops operating or operates badly. This
cell should be substituted by another one.

Useful Terms and Phrases:

cell AIICKTPUUYECKHUHA dJIEMEHT
to increase YBEIIMIUBATH

to substitute 3aMCHSITh

output BBIXO/]I

in case B CJIy4ae

I. Translate into Russian the following word combinations:

to produce and supply electric energy, it stops operating, should be
substituted by another one, a large current capacity.

I1. Find the English equivalents in the text:

BHGKTpI/ItIeCKI/Iﬁ JJIEMCHT, MMPUMCHACTCA, JJIA YBCINYCHUA
HOMMUHAJILHOM CMKOCTH, B CJ1y4aC BOSHUKHOBCHHUA HCUCIIPABHOCTHU.

I11. Which word is odd here:

— to pass, to go, to freeze, to move;
— to break up, to connect, to join, to link up;
— to replace, to substitute, to remove, to take the place of.

IV. Fill in the blanks with the missing words given below:

1. A ...1sused ... electric energy.

2. The terminals of a cell are ... to conduct ... .

3. When cells are connected ... the ... terminal of one cell is connected
to the negative ... of the second cell.
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4. Cells are ... in series in order to increase ... .

to supply, in series, cell, connected, voltage output, positive,
terminal, used, current

V. Answer the following questions:

What is used to produce and supply electric energy?

Which elements does a cell consist of?

What is the function of the terminals?

How must the cells be connected in order to increase the voltage
output?

5. How must the cells be connected in order to increase the current
output?

hoOdPE

VI. Find out which sentence corresponds to the text:

a) In order to increase the current capacity cells are connected in series.

b) Cells should be connected in series- parallel in order to increase the
current capacity.

c) To obtain a higher current output care is taken to connect the cells in
parallel.

VII. Determine the chief idea of the text:

1. Types of cell connections.
2. The purpose and function of an electric cell.
3. The importance of various connections.

VIII. Put in the correct answer:

1. The first diesel engine (was invented / has been invented) in the end of
the 19" century.

2. Football is a very popular game. It (will be played / is played) in all
the corners of the world.

3. At present she (is being interviewed / had been interviewed) for a new
job.

4. How can the problem (be solved / is solved)?

5. New software (was installed / has been installed) on my PC this week.
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6. Then we came to know that the house (was built / had been built) by a
famous architect.
7. A scientific conference (will be held / has been held) next month.
8. | think his novel (will be finished / will have been finished) by next
year.
9. Why (have he given / has he been given) a promotion?
10. The car (is being serviced / had been serviced) at present.

Text B. CAPACITORS

A capacitor is one of the main elements of a circuit. It is used to store
electric energy. A capacitor stores electric energy provided that a voltage
source is applied to it.

The main parts of a capacitor are metal plates and insulators. The
function of insulators is to isolate the metal plates and in this way to
prevent a short.

In the diagram one can see two common types of capacitors in use
nowadays: a fixed capacitor and a variable one.

The plates of a fixed capacitor cannot be moved; for this reason its
capacity does not change. The plates of a variable capacitor move; its
capacity changes. The greater the distance between the plates is, the less
the capacity of a capacitor is. Variable capacitors are commonly used by
radiomen; their function is to vary the frequency in the circuit. Fixed
capacitors are used in telephone and radio work.

—i1]iF

Fixed capacitors have insulators produced of paper, ceramics and
other materials; variable capacitors have air insulators. Paper capacitors
are commonly used in radio and electronics; their advantage is their high
capacity; it may be higher than 1,000 picofarad.

Besides, electrolyte capacitors are highly in use. They also have a
very high capacity; it varies from 0.5 to 1.000 microfarad. Their
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disadvantage is that they change their capacity when the temperature
changes. They can operate without a change only at temperatures not
lower than —40°C.

Common troubles in capacitors are an open and a short. A capacitor
stops operating and does not store energy in case it has a trouble. A
capacitor with a trouble should be substituted by a new one.

Useful Terms and Phrases:

capacitor KOHJICHCATOP
frequency 4acToTa

insulator U30JIATOD

to prevent from MPENSATCTBOBATh
to store XPaHUTh, HAKAIUJINBATH
reason MpUYNHA

to apply PUMEHSTh

for this reason 10 ATOH TpUYNHE
to move JIIBUTaTbhCS

air BO3JIYX

part 4acTh

I. Match the words in columns:

MIPH YCIOBUU a fixed capacitor
TUIMUYHAS] HEUCITPABHOCTh a capacitor with a trouble
HEJOCTATOK provided

HEWCIIPaBHBIA KOHACHCATOP a variable capacitor
HU3MEHECHUE a change

KOHJICHCATOP TIOCTOSTHHON €MKOCTH disadvantage
KOHCHCATOP MIEPEMEHHON €MKOCTH common trouble

I1. Find out which sentence corresponds to the text:

a) A capacitor is used to supply voltage.
b) A capacitor is used to increase a voltage output.
c) A capacitor is used to store energy.

II1. Find out which sentence doesn’t correspond to the text:
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a) The main parts of a capacitor are metal plates and insulators between

them.
b) The plates of a variable capacitor can be moved.
c) The capacity of a capacitor depends on the material of insulators.

IV. Name the main idea of the text:

a) The design of a variable capacitor.
b) Materials used for manufacture of both capacitors.
c) The design and application of capacitors.

V. Answer the following questions:

What is one of the main elements of the circuit?

What is the purpose of a capacitor?

What is the function of a capacitor?

What effects the capacity of a capacitor?

How does a fixed capacitor differ from a variable one?
How is the capacity of a capacitor regulated?

What insulators is a variable capacitor made up of?
When should a capacitor be replaced?

©NOOTRE W
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. Choose the right answer:

|

. Our Institute ... in 1946.
a) was founded b) is being founded
c) has been founded d) founded

2. The malil ... yet.
a) hasn’t received b) wasn’t received
c) hasn’t been received  d) has been received

3. When a student takes a book from a library, the book must ...

specific date.
a) to be returned  b) be returned
C) to return d) will be returned

4. The negotiations ... from 3 till 4 p.m. yesterday.
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a) were held b) had been held
c) had been held d) were being held

5. Some children ... to by their parents every night.
a) read b) werereading c) have beenread d) are read

6. The contract was signed after the terms of payment and delivery ... .
a) are discussed b) had been discussed
c) have been discussed  d) were being discussed

7. He told me not to worry as the letter ... by 6 o’clock.
a) will have been sent b) will be sent
c¢) would have been sent  d) has been sent

8. He ... President last month.
a) was elected b) has been elected
c) will be elected d) elected

LESSON 5
Text A. BATTERIES

Batteries as sources of electrical energy are the result of a long series
of experiments which started with the discoveries of Alessandro Volta, an
Italian scientist, more than one hundred years ago. Today battery cells are
manufactured in two common forms: (1) dry cells, used in flashlights,
portable radios, etc., and (2) wet cells, used in automobiles, airplanes,
boats, etc. The voltaic cell is composed of three parts, a pair of dissimilar
metal plates called electrodes, a dilute acid solution called the electrolyte,
and a nonconducting container called the cell.

In a glass container filled with sulphuric acid there are two plates:
one copper and the other zinc. If the two plates are connected by a copper
wire, electricity will flow through it from the copper plate to the zinc plate.
This may be shown by the wire becoming hot. If an ammeter is connected
between the plates or electrodes, as they are now called, it will indicate
that an electric current is flowing.

The electrode from which electricity flows is termed the positive
electrode and the receiving electrode is termed the negative electrode.
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Thus for the voltaic cell the copper plate is the positive electrode and the
zinc plate the negative electrode. A copper wire will convey electricity and
is called an electrical conductor. Copper, aluminium and silver are
outstandingly good conductors. Conductors must be surrounded by
protective material which does not conduct electricity and prevent it to
leak away. Materials which do not conduct electricity are called electrical
insulators; there are many common examples — glass, wood, rubber, some
plastics, “insulation” tape.

Remember that faulty insulation is dangerous and leads to unwanted
electrical flow and probably to local overheating.

If two or more cells are connected together, they form what is called
a battery.

For example, the battery is composed of four dry cells connected in
series. By series connection it is meant that the (+) terminal of one cell is
connected to the (—) terminal of the next. The purpose in connecting two or
more cells in series is to obtain a higher emf than that available with one
cell alone.

The common flashlight contains several dry cells connected in series.

Useful terms and Phrases:

to convey IIPOBOJUTH

to surround OKpY>KaThb

rubber pe3uHa

to prevent MIPEIOTBpAIIATh
available AMEIOIINICS B HAJTUYUU

I. Translate into Russian the following word combinations:

in two common forms, filled with sulphuric acid, called electrical
insulators, faulty insulation, obtain a higher emp.

I1. Find the English equivalents in the text to the following:
COCTOUT N3 TPCX KOMIIOHCHTOB, ACMOHCTPHUPYCTCA HAIrpCBAHHUCM

POBOJA, HA3BIBACTCS DJIEKTPUUECKUM MPOBOJHUKOM, OOBIYHBIN (POHAPHK,
YeM UMEETCS B OJTHOM DJIEMEHTE.
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1. Find in the text:

a) areas where various cells may be applied;
b) materials which serve as good conductors;
c) the method of connection in batteries.

IV. Answer the following questions:

Whose discoveries made it possible to create a battery?

What common types of batteries are used nowadays?

How many parts is the voltaic cell composed of?

In what direction does electricity flow when the two plates are
connected by a copper wire?

. What metals are considered to be perfect conductors?

. Why is faulty insulation dangerous?

7. Where can batteries be used?
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V. Role-play:

You are going to buy a new storage battery for your car. You come
to a shop and ask a shop-assistant to present information:

1. on the batteries available in the shop;

2. the price range of the batteries;

3. the electrical characteristics of a storage battery you got interested
in;

4. the service life of a storage battery;

5. how to test and charge a storage battery.

Regarding the most important aspects of storage battery maintenance
the shop assistant sends you to a garage electrician who is expected to
instruct you on maintenance tips for your storage battery.

The garage electrician will answer all your questions on the
maintenance procedures including ampere-hour rating, battery testing,
battery charging, charging current and charging systems.

Discussion. You have some doubts about buying a traditional storage
battery. To make a good choice you need to visit some garages and shops.
Which storage battery will best suit your requirements?

a) Read the following arguments. Add your own ones:
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A traditional storage battery

For Against

1. A traditional storage battery is | 1. It requires the periodic addition of
less expensive than a| water to the electrolyte solution.
maintenance-free battery. 2. Testing and charging takes a lot

2. You can do testing and charging | of time.
by yourself. 3.1t is a costly procedure to test and

3. You can replace the faulty battery | charge a storage battery in the
if you find damaged. commercial garage.

A maintenance-free battery

For Against
1. No need to periodically add water | 1. It is more expensive than a
to the electrolyte solution. traditional storage battery.
2. There is a visual aid to control a|2.The service life seems to be
state of charge. shorter if not properly handled.

b) Discuss the problem in groups of 3-5 students in order to come to your
own conclusion.

¢) Fill in the table and give you reasons:

Group 1 Group 2 Group 3

A traditional storage battery
will better suit my purpose.

A maintenance-free storage
battery is all | need.

Text B. CONDUCTORS

Conductors are materials having a low resistance, so that current
easily passes through them. The lower the resistance of the material is, the
more current can pass through it.

The most common conductors are metals, and silver and copper are
the best of them. The advantage of copper is that it is much cheaper than
silver. Thus copper is widely used to produce wire conductors. One of the
common functions of wire conductors is to connect a voltage source to a
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load resistance. Since copper wire conductors have a very low resistance, a
minimum voltage drop is produced in them. Thus, all of the applied
voltage can produce current in the load resistance.

It should be taken into consideration that most materials change the
value of resistance when their temperature changes.

Metals increase their resistance when the temperature increases while
carbon decreases its resistance when the temperature increases. Thus,
metals have a positive temperature coefficient of resistance while carbon
has a negative temperature coefficient. The smaller the temperature
coefficient is or the less the change of resistance with the change of
temperature is, the more perfect the resistance material is.

Useful Terms and Phrases:

an advantage IPEHMYIIECTBO

cheap JENIEBBII

perfect COBEPIIICHHBIN, HICATHHBIN
carbon yTIEPO/T

widely IIAPOKO

a load resistance CONIPOTHBJICHUE HATPY3KH

I. Translate into Russian the following word combinations:

the lower resistance of the material, one of the common functions, it
should be taken into consideration, since copper wire conductors.

I1. Find the English equivalents in the text for the following:

MCIb MHUPOKO IMPUMCHACTCA JIA HU3TOTOBJICHHA, YCM  HHIKC
COIMPOTHUBJIICHUC MaTCpHalia, CaMbIC PACIIPOCTPAHCHHBIC IIPOBOAHHKH,
BCJIMYMHA COITPOTUBJICHU.

I11. Find out which sentence corresponds to the text:
a) A low resistance is essential for conductors.

b) Conductors are materials having a high resistance.
c) Silver and copper are poor conductors.
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I'V. Find out which sentence doesn’t correspond to the text:

a) Current passes through conductors easily.
b) Silver and copper are good conductors.
c) A temperature charge has no effect on a material conductivity.

V. Answer the following question:

. What is a conductor?

. What are the most common conductors in electrical engineering?
. What is the most common function of wire conductors?

. What is a relationship of resistance to a temperature rise?

A~ wPN R
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. Render the text “Conductors” using the following scheme:

. The title of the text is ... .

. The text is given in the textbook ... .
. The authors of the textbook are ... .
. The main idea of the text is ... .

. The text deals with ... .

. In the beginning of the text ... .

. The text goes on to say ... .

. According to the text ... .

. In conclusion ... .

I found the text ... .

CQOWONOUTAWNE
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VII. Choose the right answer:

1. Becket ... sell pencils because he had no other means to earn a living.
a)ymust b)hadto c¢)had d)mustto

2. Economics ... to have the closest connection with economy.
a)is b)must c)can Db)are

3. We ... to do that work.
a) must b) unable c) were unable d) could not

4. But he ... to finish this story.
a) couldn’t b) mustnot c)beallowed d)was notallowed
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5. T hope you will ... to consider our papers next week.
a)be Db)beable c)areable d)areallowed

6. Tomorrow we ... to meet our relatives from Moscow.
a)is b)must c)are d)can

7. Will she ... to use this method in her research?
a) be allowed Db) is allowed c) will be allowed d) will allow

8. They will ... to start at once next week.
a)can b)beable c)tobeable d)areable

9. The experiment ... to be conducted at 5 o’clock.
aymust b)are <c¢)is d)hasto

10. I ... to do it because there was no other way out.
a)had Db)have <c)hadto d) must

LESSON 6
Text A. TRANSFORMERS

A transformer is used to transfer energy: due to the transformer
electric power may be transferred at a high voltage and reduced at the
point it must be used to any value. Besides, a transformer is used to change
the voltage and current value in a circuit.

A two-winding transformer consists of a closed core and two coils
(windings). Each coil consists of a number of loops of round or rectangular
wire. Several strands may be used in parallel but electrically insulated
from each other, from the core and from the other caoill.

The core consists of thin sheets of high-grade silicon steel. The
thickness depends somewhat on the frequency at which the transformer is
to operate. The thickness commonly used for 60 cycles is approximately
0.014 in.

The primary winding is connected to the voltage source. It receives
energy. The secondary winding is connected to the load resistance and
supplies energy to the load.

39



The value of voltage across the secondary terminal depends on the
number of turns in it. In case it is equal to the number of turns in the
primary winding the voltage in the secondary winding is the same as in the
primary.

In case the secondary has more turns than the primary the output
voltage is greater than the input voltage. The voltage in the secondary is
greater than the voltage in the primary by as many times as the number of
turns in the secondary is greater than the number of turns in the primary. A
transformer of this type increases or steps up the voltage and is called a
step-up transformer.
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In case the secondary has fewer turns than the primary the output
voltage is lower than the input. Such a transformer decreases or steps
down the voltage, it is called a step-down transformer.

Compare T1 and T2 in the diagram. T1 has an iron core. For this
reason it is used for low frequency currents. T2 has an air core and is used
for high frequencies.

Common troubles in transformers are an open in the winding, a short
between the primary and the secondary, and a short between turns. In case

a transformer has a trouble it stops operating or operates badly. A
transformer with a trouble should be substituted.

Useful Terms and Phrases:

transformer TpaHcpopmaTop
strand KTYT

to transfer nepeaaBaTh

to receive IPUHUMATh

to step up CEpAECYHUK
silicon YTIIEPOJT
winding oOMOTKa

to step down MOHHKATh
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primary winding IICpPBUYHAS OOMOTKA
frequency JacToTa
due to Oyaromaps uemy-auoo

I. Translate into Russian the following word combinations:

to any value, a two-winding transformer, high-grade silicon steel, by
as many times as, should be substituted.

I1. Find the English equivalents in the text to the following:

TOHKHE IUIACTUHBI, MCTOYHUK HANPSDIKEHUs, KOJIUYECTBO BHUTKOB,
MOBBIIAIONTUN TpaHCHOPMATOP, HU3KO YACTOTHBIM TOK, HEUCIIPABHOCTD.

[11. Find out which sentence corresponds to the text:

a) A transformer is used to transfer energy.
b) A transformer is used to change the load resistance.
c) A transformer is used to operate for 60 cycles.

I'V. Find out which sentence doesn’t correspond to the text:

a) Electric power is transferred at a high voltage and reduced to any
value by capacitors.

b) Transformers receive a high voltage electric power and reduce it to
any value.

c) Due to resistors electric power is transferred at a high voltage and
reduced to any value.

V. Find out which sentence has nothing to do with the text:
a) A transformer consists of the primary and the secondary windings.
b) A transformer is a common name for creative toys.

c) A transformer is widely used in electrical engineering.

V1. Match the words in columns:
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nepeaBaTh YHEPTHUIO
nepBUYHAS 0OMOTKA
BTOpUYHas 0OMOTKa

MOHMKATh

KEJIE3HBIA CEPACYHUK
BEJIMUMHA 3apsijia

TOK BBICOKOM YaCTOThI
MOHWYKAIOITUN TpaHCHOpPMaTOp

an iron core

the value of charge

high frequency current
to transfer energy

the secondary

the primary

to decrease

a step-down transformer

VII. Complete the sentences using the endings in the right column:

1. A step-down transformer
decreases the primary voltage ...

2. The primary winding receives
energy ...

3. An air core transformer is used
for high frequency currents ...

VIII. Answer the following questions:

What is a transformer used for?

No G hkowhE

IX. Discussion.

a. Whereas the secondary winding
supplies energy to the load.

b. while an iron-core transformer is
used for low frequency currents.

c. but a step up transformer
increases the secondary voltage.

What does a transformer consist of?

What two types of transformers do you know?

What type of a transformer is used for high frequency currents?
What type of a transformer is used for low frequency currents?
What are common troubles in a transformer?

What should be done in case a transformer has a trouble?

You are studying to be an electrical engineer. It is a profession that is
always in great demand. You are sure to get necessary training for a
lifelong occupation. State why it is important to become a skilled

electrician nowadays:

Topic 1. Theoretical preparation

The future profession is so closely related to the technical and
theoretical concepts of electricity that only a trained person can do the job.
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The electrical industry constantly introduces new and improved
devices and materials. The knowledge obtained at the Institute helps the
student to achieve a solid understanding of electrical theory and its
application to devices, circuits and materials. Is life-long training a must
for an electrical engineer? Express your point of view.

Topic 2. Areas of employment

The modern home, office and factory require a higher degree of
proficiency in electrical work. The constant increase in new types of
construction, power generation and management, new electrical equipment
offer increasing employment opportunities for qualified electricians. One
should also bear in mind available employment in the field of cable
installation, electric motor maintenance and repair. Due to the increased
needs of our society new opportunities are developing rapidly. What other
employment opportunities may be found nowadays in electrical
engineering? Express your own point of view regarding this matter.

Topic 3. Personal features

Electrical workers are judged by the quality of their work and their
attitude toward fellow workers, employers and the public.

The electrical trade is a trade in which individual ability and skill are
recognized and rewarded.

This job requires a high degree of responsibility because it covers
complex electrical systems which may pose danger to community.

A student should be able and eager to learn the skills and technical
knowledge in order to be successful in his occupation.

What other personal qualities to your mind may be needed to make a
smart electrician?

Text B. ELECTRIC MOTORS

There is a wide variety of d. c. and a. c. motors. There are shunt
motors, series motors, synchronous motors, induction motors, single-, two-
, and three-phase motors. They are used to drive various machines. A ball-
bearing fully enclosed fan-cooled direct-current motor is shown in Fig. I.
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Direct-current motors are of three principal kinds, and are named
according to the manner in which their field coils are connected to the
armature. They are named respectively: series, shunt and compound.

In the series motors the field windings and armature are connected in
series with each other. All the current passes through the field coils. The
field windings are therefore composed of a few turns of thick wire.
Starting under heavy load, a series motor will take a large current to
provide the huge torque required.

The field coils of shunt motors are connected direct across the
brushes, hence they have the full voltage of the mains applied to them. The
shunt motor may be called a constant speed motor, and is suitable for
driving machine tools, lathes, woodworking machines and any machines
requiring a steady speed.

Fig. I. A ball-bearing fully-enclosed fan-cooled direct-current motor:
1 — field coil; 2 — armature spider; 3 — brush yoke; 4 — brush holder; 5 —
armature laminations; 6 — frame; 7 — armature coils; 8 — ball bearing; 9 —
armature key

A compound motor has both shunt and series field windings and
therefore partakes of the nature of both types of motors.

Useful Terms and Phrases:

a shunt motor IIYHTOBBIN JIEKTPOJABUTATEND

armature SIKOPb

a series motor AIICKTPOJABUTATEID C
MOCJIEI0BATENIbHBIM BO30Y KICHUEM

a compound motor AIEKTPOJABUTATENbL CMEIIAHHOI'O THUIIA

torque KPYTALIUHA MOMEHT
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brush [ETKA
the mains JIEKTPOCETh
a field coil TIOJIFOCHAS KaTyIIKa

|. Translate into Russian the following word combinations:

the full voltage of the mains, the huge torque required, named
respectively, heavy load, a large current.

I1. Find the English equivalents in the text to the following:

UCIIOJIB3YETCS IS, COCIUHSIOTCS MOCIEI0BATENBHO APYT C IPYTOM,
MOCTOSIHHBbIE 00OPOTHI BpAIIEHUS, CYILIECTBYET ITUPOKUIM, 3aKPBITHIN.

I11. Complete the sentences using the following endings given in the right-
hand column:

1. In practice electric motors are |a. to provide the huge torque

used ... required for operation,

2. The shunt motor is ... b. to drive various machines.

3. A series motor is designed to |c. suitable for driving machine tools
take a large current in order ... requiring a steady speed.

4. The field windings are made of | few turns of thick wire.

IV. Determine the main idea of the text:

1. The existence of a great line of electric motors for industrial use.

2. The most common types of d. c. electric motors.

3. The design of a ball-bearing fully enclosed fan-cooled direct-current
motor.

V. Find out which sentence does not correspond to the text:
1. The manner of connection of field coils to the armature determines a
particular kind of a d. ¢c. motor.

2. In the series motors a current flows though the field coils.
3. A shunt motor is similar in construction to an induction motor.
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Vi

1
2
3
4
5
6

. Answer the following questions:

Does there exist a wide variety of electric motors?

What there principal kinds are direct-current motors divided into?
What is a field winding and how is made?

What is a series motor?

What is a shunt motor?

What is the design of a compounds motor?

VII. Choose the right answer:

1.
2.
3.

The teacher explained to us that the Sun (rises / rose) in the east.

John says he (is reading / was reading) an article now.

The secretary told us (not to speak aloud / do not speak aloud) in the
office.

. The teacher told the students that the telephone ... in America by A.

Bell.
a) invented b) has been invented c) was invented d) had been invented

. The financial adviser warned the Vice-President that the new project

... a failure.
a) would be b) will be c) is d) would have been

. Could you tell her where ... ?

a) the nearest cinema was b) the nearest cinema is
C) is the nearest cinema d) was the nearest cinema

. My English teacher wanted to know ... doing in my spare time.

a) what did | enjoy b) what I had enjoyed
c¢) what | enjoyed d) what enjoyed |

. Jane was mistaken when she said that Maggie ... to her new flat the

month before.
a) was moving b) has moved c¢) would move d) had moved

. He said that the students of our group were studying in the library.

a) OH cKasaj, 4TO CTYICHTHI Halllell TPYyMIbl OyayT 3aHMMAThCs B
oubmoTexe.

b) OH cka3an, 4YTO CTYIACHTHI HAIIeW TPYyNmbl 3aHUMAIUCh B
oubmoTexe.

C) OH ckasal, dYTO CTYACHTHI Halleid TPYyNImbl 3aHUMAIOTCA B
onbdmmoTexe.

10. Ona nouHTepecoBaliach, MOEJAET JIU OH JIETOM B MOCKBY.

a) She wondered whether he would go to Moscow in summer.
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b) She wondered whether would he go to Moscow in summer.
c) She wondered if he will go to Moscow in summer.

VII1I. Discussion.

The academic year is coming to an end. It’s time now to evaluate

the knowledge and understanding acquired in the study of the Concepts of
Electricity:

X

[

1.

2.

Coo~Nooak~wdrE

Please say whose law established the basic electrical relationships of
current, voltage and resistance.

Explain what is created by electrons moving through wires. What will
happen to current if voltage remains constant and resistance increases.

Take a series circuit and say whether the current is the same through
each device or not. Will the sum of the voltage drops be equal to the
total voltage?

Do you agree that in a parallel circuit the voltage is the same across
each branch, and the sum of the branch currents equals to the total
current?

Please demonstrate your knowledge by inserting the proper word or
symbol:

Electrical pressure is measured in ... .

Electrical current is measured in ... .

An electrical current is the movement of ... .

The symbol for source voltage is the letter ... .

Resistance is measured in ... .

The symbol for current is the letter ... .

Electrical power is measured in ... .

The symbol for electrical power is the letter ... .

Electrical resistance is measured with an instrument known as ... .
The most frequently used conductor of electricity is ... .

Thank you. Have a good time in summer vacations. See you next

year at English classes.
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SUPPLEMENTARY READING
Text 1. IMPORTANCE OF ENERGY

From the very outset energy has played a vital role in the
development of civilization. There has been a universal basic drive
towards better living through expanded utilization of energy. The history
of civilization shows a close relationship between the utilization of energy
and the process of mankind. The degree of utility of energy is the symbol
of the progress of a country.

Energy consciousness in the people has created interest in them to
tap new sources of energy from time to time. Of the various forms so far
discovered the electrical energy has contributed a lot to the world’s energy
requirements.

Text 2. ADVANTAGES OF ELECTRICAL ENERGY

Electrical energy is the most refined form of energy. The advantages
derived from electrical energy are many in number. Some of its important
advantages over other forms of energy are:

1. It can be generated in large quantities at comparable cost with
other types of energy.

2. It can be conveniently transmitted over long distances.

3. It can be utilized efficiently in a number of processes requiring
energy.

4.1t has got maximum flexibility and has most sensitive
susceptibility control.

Text 3. SOURCES OF ELECTRICAL ENERGY

The energy requirements have also increased due to rapid growth of
the world’s population. Therefore, it has become essential to harness more
power resources with utmost economy so as to keep pace with the
requirements of the world’s population.

The main resources of generating power on large scale are steam,
water, diesel, oil and nuclear energy. Other possible sources of electrical
power are solar radiation, tidal and wind power. Magnetohydrodynamic
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(MHD) generation of power by direct conversion of heat energy to
electrical energy is drawing a great attention of experts in recent times.
The choice of a particular method of generating power largely depends
upon the technical and economical considerations. The generation of
power by steam is common at places where there is abundance of supply
of coal, oil or natural gas. Diesel power stations are preferred in countries
rich in oil. Hydroelectric generation of power is adopted in hilly areas
where water resources are in abundance and the rainfall is heavy. In
countries where other resources are limited nuclear power generation has
to be adopted.

Text 4. ALTERNATING CURRENT (AC) POWER SYSTEM

Large amount of power is generated at the generating stations. It is,
then, transported by means of transmission lines to load centres which are
usually situated at great distances from the generating stations. Since the
long distance transmission at high voltages is cheap and low voltages are
required for utility purposes, the voltage level goes on decreasing from the
transmission system to the distribution system.

Text 5. SUPPLY SYSTEMS

An electric power system may be divided into three main
components, namely — the generating system, the transmission system and
the distribution system. A transmission line is that part of an electric power
system which transports electrical energy in bulk from the generating
station to the distribution system.

The new thermal stations are usually sited near the coal mines
because of the higher cost of transportation of coal. The nuclear plants are
also situated remote from the centres of consumption due to safety reasons.
Hydro-power station sites are governed by the availability of the water
resources. Thus, the difficulty of getting power station sites near the
consuming centres make it inevitable to transfer bulk of electrical energy
through longer distances. Long-distance bulk power transfer is only
possible by high voltage transmission systems. Extra high voltage (EHV)
transmission systems were developed in most of the countries for
transporting energy from remote hydro stations. By EHV is meant the

49



voltage above 220 kV.

The system voltage very much affects the capital cost of a
transmission line. The weight of conductor material, the efficiency of the
line, and the voltage drop in the line depend upon the system voltage. The
choice of voltage, therefore, becomes a major factor in the line design.

Some of the important factors considered for a good power system
design are reliability and flexibility of service, constant frequency, good
voltage regulation, simplicity of equipment with regard to installation,
operation maintenance, safety to equipment and personnel, efficiency and
economy.

Text 6. CONDUCTORS

The important factors taken into account in the selection of a
conductor for a particular line are conductivity, tensile strength, fatigue
strength, corona loss, local conditions and cost. The conductor materials
mainly used are copper, aluminium and their alloys.

The conductors are usually stranded. Stranded conductors have not
only greater flexibility but also greater mechanical strength than have
single wires of the same cross-sectional area. Usually a central wire is
surrounded by successive layers of wires containing 6, 12, 18, 24, ...
wires. In practice the consecutive layers are spiraled in opposite directions
to prevent unwinding.

Hard-drawn copper, hard-drawn aluminium, and steel-cored
aluminium conductors are most commonly used. In addition to these,
various other materials are used for making conductors but their use is
limited.

Copper for overhead lines is hard-drawn to give a relatively high
tensile strength. It has a high electrical conductivity, long life, and high
scrap value.

The tensile strength of copper is increased by approximately 50 per
cent by adding about 0.7 to 1.0 per cent cadmium to it. The conductivity is,
however, reduced by about 15 to 17 per cent. Like hard-drawn copper this
alloy possesses the advantage of easy jointing, more resistance to
atmospheric corrosion, better resistance to wear, easy machinability etc.
The temperature at which copper anneals and softens is also increased and
temperature effects on stresses are less.

Copper is welded on to a steel wire by hot rolling and cold drawing a
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billet of steel coated with copper. It is ensured that the uniform thickness
of copper is welded. The conductivity of copper wire conductor varies
from 30 to 60 per cent of that of a solid copper conductor with the same
diameter. The conductivity of the standard grade is about 40 per cent.

Text 7. POWER CABLES

Cables form the system for the transmission and distribution of
electrical energy. The residential and industrial loads today have a trend
towards their growing density. This requires rugged construction, greater
service reliability, increased safety, and better appearance. The
interference from external disturbances like storms, lightning, ice, trees,
etc., should be reduced to a minimum. These difficulties are easily
overcome by the use of underground cables and a trouble-free service is
achieved under a variety of environmental conditions.

Earlier underground cables were mainly used in or near densely
populated areas and were operated at low or medium voltages only, but the
present day requirements seek to use them even at extra high voltages for
longer distances.

The possibility of supply interruption due to lightning or other
external influences is lesser with underground cables, but if a fault occurs
due to any reason it is not easily located.

A power cable consists of three main components, namely,
conductor, dielectric, and sheath. The conductor provides the conducting
path for the current. The insulation or dielectric withstands the service
voltage, and isolates the conductor with other objects. The sheath does not
allow the moisture to enter, and protects the cable from all external
influences like chemical or electrochemical attack, fire, etc.

Copper and aluminium are used as conductor materials in cables. As
pointed out earlier, aluminium occupies a greater space than copper. Both
copper and aluminium have been favoured for the conductor materials
because of their high electrical conductivity.

Text 8. ELECTRICITY — THE FUEL OF THE FUTURE

At present, two-thirds of all electricity is consumed by the industrial
and commercial sectors. As robots take over the factory and computers
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come to dominate the office, electricity, the one form of energy ideally
suited to high technology uses, will come to dominate as an energy source.

Electricity is the lifeblood of the industrialised world’s economy, a
magic fuel that is highly flexible and clean at the point of use, and that can
be controlled to vary temperatures and speeds.

Electricity drives the motors that move assembly lines. It lights and
heats offices and stores. And in an advanced economy, electricity is the
medium of information as it flows through telecommunication lines and
computer networks.

And now digital electronics promises to forge powerful new media
that will merge the telephone and the cable television industries.

Many electrotechlonologies are so efficient that using them creates a
competitive advantage. Here are some examples:

— Produce steel with an electric melter instead of a flame (Energy
savings of 65 per cent)

— Dry paint with infrared electric heat rather than gas ovens (Energy
savings of 90 per cent), and

— Cook in a microwave oven instead of a gas oven (Energy saving
of 90 per cent).

Some people do not fully appreciate electricity’s efficiency because
they know about conversion losses — the energy lost in converting fuel into
electricity. They are also aware of the energy losses that attend the
movement of electricity along transmission lines. They then point out that
further losses occur when the electricity is converted to do work. Yes, it is
true there are losses.

But if you could run your television set or your computer on gasoline
or woodchips, you might get some idea how efficient electricity is when
compared with other fuels.

A few years ago, USA Today, the nationwide US newspaper,
surveyed its readers to find out what people thought was the “greatest
invention of all time”. The overwhelming response was something we
rarely think of as an invention: electricity.

No doubt, the importance that people attribute to electricity is that it
makes possible so many other inventions.

Edison made only one purely scientific discovery regarding the
strange force we call electricity. That discovery, appropriately called the
Edison Effect, involves the flow of electricity across a vacuum. Edison
patented the discovery but could find no use for it and went on to other
things. The Edison Effect turned out to be the basis of what we now call
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the electronics industry: radio, television, computers, and video cassette
recorders.

Today electricity continues to occupy centre stage in the creation of
new technologies.

In light of today’s challenges, electricity is not simply a great
invention. It is a miracle fuel: a highly efficient energy source that’s clean
at point of use, that helps cut atmospheric carbon dioxide, and that can be
controlled to hairbreadth levels of precision.

Someone once said that efficiency means doing things right and
effectiveness means doing the right thing. | say the key to both is
electricity. The fuel of the future.
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GRAMMAR MATERIAL
§1 Umsa cymecTButeanHoe (The Noun)

ViMeHeM CyIIECTBUTCIBHBIM HA3bIBACTCS 4YacTh pEYH, KOTOpas
0003HaYaeT NnpeaMeT Ik OObEKT.

[TpenMeToM B rpaMMAaTHKE Ha3bIBAIOT BCE, O YEM MOYKHO CIIPOCHTH:
what is this? 4ro 310?

OOBEKTOM B IpaMMaTHKE HA3bIBAIOT BCEX, O KOM MOJKHO CIIPOCHUTb:
who is this? xto 310?

Hanpumep: what is this? — a circuit yens, current mok, voltage
nanpsiocenue; Who is this? — a boy napenw, an electrician szexmpux, an
electrical engineer uwnorcenep-snexkmpux.

MMmeHa cyiiecTBUTEIbHBIC KIACCU(PHUITUPYIOTCS KaK:

— wucuncisgemMsie (a load) u neucuncasiemsie (Copper). Ucuucnsembie
CYIICCTBUTEIbHBIC MMCIOT J[BA YKCJIA: SAMHCTBCHHOE M MHOMKECTBECHHOC
(branch - branches);

— cooctBennbie (Oxford) u Hapunarensubie (a flow, a battery);

— KoHKpeTHbIe (@ charge) u abctpaktHblie (determination);

— opymieBiieHHbIE (a student) u HeoxymeniaeHusie (an application);
npocteie (& drop), mpousBoaHbie (production) m cocraBHbIe (a

flashlight).

§2 O6pa3oBaHMe MHOKECTBEHHOT0 YHCJIA HMEH CYIeCTBUTEIbHBIX
(The Plural of Nouns)

HcuuncnsieMble CylecTBUTENbHbIE UMEIOT JBA YHCIIA — €IMHCTBEHHOE
¥ MHO>KE€CTBEHHOE.

1. MHOXXECTBEHHOE YHCJIO HMEH CYIIECTBUTEIBHBIX 00pa3yeTcs
nyTeM npuodaBiieHus: K GopMe €AMHCTBEHHOIO0 YMCIa OKOHYaHUS -S (WA -
€S), KOTOpOE MPOM3HOCUTCSA [S] MOCEe IIIyXUX COIVIAaCHBIX: Map — maps,
part — parts, rate — rates; [z] mociie 3BOHKHX COTJIACHBIX M IIACHBIX: Calr —

cars, boy — boys, bag — bags u [1z] mociie MHUOANMX U CBUCTIIIMX: INCh —
inches, tax — taxes, class — classes.

Ecnmu  cymiectBUTENbHOE  OKaHYMBaeTcsl Ha OykBY Yy ¢
MPEJIIIECTBYIOMIEH COIrIacHOM, TO IpH OOpa30BaHWM MHO>KECTBEHHOI'O
yrclia Y 3aMeHsieTcs Ha | 1 npuoasisieTcs -eS: reply — replies, city — cities.
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Cy1ecTBUTENbHBIE ¢ KOHeUHOM OykBoi -f wim -fe nmpu oGpazoBanum
MHOXCCTBCHHOI'O 4YHCJIa MCHAKT HUX Ha 6YKBBI -Vé C HpI/I6aBJI€HHCM
okxonuanus -S. life — lives, knife — knives, leaf — leaves.

He MO UUHSAIOTCSA OTOMY IIPaBUITY CYILIECTBUTEIIbHBIC,
OKaHYUBAOMINUCCA Ha
-o0f, -ief u -iff, u ormenbHBIC cymecTBuTeNbHBIC HA -fe; roof — roofs, chief
— chiefs, cliff — cliffs, safe — safes.

2. Hekortopsie CYILIECTBUTEIIbHBIE o0pasyoT bopmy
MHOKCCTBCHHOI'O 4HCJIa IIYTCM HM3MCHCHMU KOpHeBOﬁ rJJacHoOM: Mman —
men, child, children, tooth — teeth.

3. Umena CYIICCTBUTCIILHBIC, 3aMMCTBOBAHHBLIC H3 TPCUYCCKOIO H
JAaTUHCKOI'O s3BbIKOB, COXPAHAIOT CBOHU (bOpMBI MHOXCCTBCHHOT'O 4YHCJIA.
datum — data, phenomenon — phenomena, nucleus — nuclei, radius — radii,
Crisis — crises.

§3 HcunciisieMble 1 HEUCUMCIIEMbIE CYIIECTBUTCIbHBIC
(Countables and Uncountables)

HMmena CYHICCTBUTCIIbHBIC HAPULATCIIBHBIC NCIATCA HAa ABC I'PYIIIIBI:
HNCUUCIISAEMBIC U HCUCUUCIIAACMBIC.

Hcuncnsembie CYIICCTBUTCIILHBIC YHOTpC6J'I$[IOTCH KaK B
CAUMHCTBEHHOM, TaK KW BO MHOXCCTBCHHOM 4YHCIIC. Heucuucasemeie
CYHICCTBUTCIIbHBIC yHOTp€6J'IHIOTC$I TOJIBKO B CIMHCTBCHHOM YMHCIIC.

K HCYHUCIISAEMbBIM CYHICCTBUTCIIbHBIM OTHOCATCA Ha3BaHUA
npeaMEeToOB, KOTOPBIC MOKHO IICPCCUUTATD!

| have a pencil. — Y meHs ecTh KapaHari.
She has bought two pencils. — Ona kymnuia 1Ba kapaHaamia.

K HeucuuciasieMplM CYIIECTBUTEIBHBIM  OTHOCATCS  HAa3BaHMS
PEIMETOB, C KOTOPBIMU HE YIOTPEOSAIOTCS €AUHUIIBI CUETA.

K HuM 1npuHamgnexar CyLECTBUTEIbHBIE BEIIECTBEHHBIE W
OTBJICUECHHBIE, U OHU YNIOTPEOIISIOTCS TOJIBKO B €IMHCTBEHHOM YUCJIE:

Milk is useful for children. — Mosoko none3Ho aersM.
Time flies. — Bpems neTur.
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CymectBuTenbHble  advice  cosem, cogemul, information
ungopmayus, ceedenusi; Progress ycmex, ycnexu; knowledge swuanue,
3HAHUA YIOTPEOISIOTCS B AHIJIMICKOM SI3BIKE€ TOJIBKO B €IMHCTBEHHOM
yUcie:

The teacher is satisfied with my progress. — Yuurenb yaoBI€TBOpEH
MOHMH YCIICXaMU.

Ha3Banms Hayk, okaHuyuBaroluecs Ha -icS (mathematics, physics,
statistics u T.1.) ynorpeOJsAtoTCS CO 3HAYCHHEM C€IAMHCTBEHHOI'O YHCIIa,
XOTSI UMEIOT (POPMY MHOKECTBEHHOTO UUCIIA:

Statistics deals with study of numerical facts and data. — Crarucruka
3aHUMAETCS U3yuYeHHEM ITU(POBBIX (PAKTOB U JTAHHBIX.

§4 Aptuxab (The Article)

ApTUKIIb — CIIy’)K€OHOE CJIOBO, KOTOPOE€ SIBJISIETCS OMpEaeIuTeNeM
CYLLECTBUTEIILHOTO. B aHINIMHACKOM $3bIKE HMEETCA [Ba apTUKIA —
HEONPECIICHHBIN U ONPEACIICHHBIN.

Heonpenenennsli aptukip a (Wi an — mepea  CIOBaMH,
HAYMHAIONIMMUCS C TJIACHOH, — an apple) ykas3piBacT Ha €IMHCTBCHHOE
YUCJIO JAHHOTO HMEHM cymiecTBuTelbHOro. OH mpowuzomen oT
YUCIUTEIBHOTO ONE ¥ MHOTIa EPEBOTUTCS OOUH.

It is a desk. — DTo croux (kaKoi-TO, OJTUH U3 MHOTHX ).
He is absent for an hour. — On otcyrcTByeT (071MH) Yac.

[lepen HeucUYUCISIEMBIMH CYIIECTBUTEILHBIMU HEOIPEACICHHBIHI
apTUKJIb HE CTABUTCH.

OmnpeneneHHbli  apTukiab the mnpomcxomuT oT  yKazareabHOTrO
MectouMenus that u ymorpe0isercs ¢ IMEHaMH CYIIECTBUTEIIEHBIMHU KaK
B EIMHCTBEHHOM, TaK M BO MHOXECTBEHHOM uucie. OrnpeneneHHbIN
apTUKJIb YIOTPEOIsSeTCA:

1. Koraa peub uet 00 OnpeaeeHHOM MPeAMETE U JTULIE:

The man is an engineer. — (3T0T) My»X4HHA — HHKEHED.

56



2. Tlepen cynieCTBUTEIbHBIM, €CIIU €EMY MPEAIIECTBYET:
a) mopsaKoBoe yncauTesbHoe (the second decsamuiii);
b) mpuiaraTenbHOE B MPEBOCXOHOMN CTEIICHHU.

This book is the most interesting | have ever read. — Dra kHura
camas UHTEpECHasi, KOTOPYIO s KOT/1a-TM00 YUTall.

3. Ilepen reorpaduyeckiMu Ha3BaHUSIMHU OKEaHOB, MOPEH, pEK, Top,
HEKOTOPBIX CTpPaH, yacTel CBETa U T..

The Pacific ocean — Tuxuii okean, the Volga — Bouara, the Crimea —
Kpeim, the United Kingdom — Coenunennoe Kopomnesctso, the West —
3aman, the Netherlands — Hunepnausr.

be3 apTukis ynoTpeosisitores:

1. umena cobctBennnie (London, Russia, Brown, mo the Smiths
ceMbsi CMUTOB)

London is the capital of Great Britain.
2. HEUCUHCIISICMBIC CYIIECTBUTEIIBHBIC, K KOTOPBIM OTHOCSITCS:
d) CyIIeCTBUTE/bHbIE, 0003HauUaroIMe aOCTPAKTHHIC TOHSITHUSA:
time gpems, love noboswy;
b) cymecTBuTeNnbHBIE, 0003HAYAIONINE HA3BaHHUS BEIICCTB: juice
cok, Water eooa, paper oymaea,
3. Ha3BaHUA HayK: chemistry xumus, €CON0OMICS 9KoOHOMUKA,
4. Ha3BaHUs CIIOPTUBHBIX UT'P: CheSS waxmamet, rugby pezou;

5. Ha3Bauus qHel Hepenu: Monday nounedenvnux, Tuesday emopnux;,

6. Ha3BaHUsA BpeMeH rojia u mecsies: March wapm, summer zemo.

57



§5 Od6opor there + to be

Hacrosmee (Present) [Tpomenmee (Past) bynymee (Future)
there is (ex. 4.) there was (ex. 4.) there will be
there are (mH. 4.) there were (mH. 4.)

[Ipepnoxenuss ¢ odboporom there + to be ykaswiBaror Ha Hanmmuune
WM OTCYTCTBHE JIMLIA WM MPEIMETa B ONPEACICHHOM MECTe.

DTOT 000POT NMEPEBOAUTCS HA PYCCKUM S3BIK KaK umeemcs, ecmb,
Haxooumcs, cywecmeyem. llpenmoxenus ¢ oboporom there + to be
ClIeyeT MepEeBOAUTh, HaUMHas ¢ 00cTosTeabcTBa. CioBo there na pycckui
SI3BIK HE IIEPEBOIUTCS.

There are three windows in our classroom. — B namrelr ayauropun
HUMCCTCS TPHU OKHA.

B obGopore co cioBom there Moryr ymoTpeONATbCeS W JpyrHE
rJ1aroJiel, HarpuMmep: to stand, to exist.

There stands a TV set in the corner of the room. — B yrimy komHaThI
CTOHUT TCJICBU30D.

§6 Ymorpeosaenne many/much, a little/a few, few/little
CnoBa many, much cootBercTBYyIOT pycckomy MmHOTO, a few u little
MaJio.
Many u few ymoTpeOasioTes ¢ UCUUCIIIEMBIMU CYIIECTBUTEIBHBIMU

BO MHOXKC€CTBCHHOM 4YUCIJIC:

many students — MHOT'O CTYICHTOB,
few students — majo cTyaeHTOB.

Cnoa much wu little ynorpeGnsroTrcs ¢  HEHCUHCISACMBIMU
CYIICCTBUTEIbHBIMH B SIUHCTBCHHOM YHCJIC:

much time — mHOTO BpemMeHH,
little bread — mano xne0a.
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Coueranne a few o3HauaeT HEMHOr0, HECKOJIbKO M YIIOTPEOJIAETCS C
UCYMCIIIEMBIMHA  CYILICCTBUTEIbHBIMM, coucTanue a little o3mauaer
HEMHOTO.

He has a few English books. — V Hero ectb HeCKOIbKO aHIITHHACKHUX
KHUT.
He speaks German a little. — On HEeMHOr0O rOBOPHT MO-HEMEIIKH.

Breipakenne a lot of ynmorpeGisiercst kKak ¢ MCYUCIIIEMBIMHU, TaK H C
HEUCYHCIIIEMBIMHU CYIIECTBUTEIbHBIMU. Hanpumep:

He has got a lot of friends. — ¥ nero mHoro mpy3eii.
They spent a lot of money in Italy. — Onu notpaTiiii MHOTO JICHET B
Hranun.

§7 I'naroa (The Verb)

['marosioM Ha3bIBaeTCsl 4acTh pedH, KOTOpas o0O3HAYAeT JCHCTBHE
WJIA COCTOSIHUE JIUILIA WA IIPEAMETA.

My friend is a student. — Moii npyr (SBasieTcs1) CTYIEHT.
He studies at an Institute. — OH y4uTCs B MHCTUTYTE.

I'maron umeer nu4Hble W HeaudHble GopMbl. JInuHble (HOPMBI
0003Ha4Yal0T BpeMsl, JIMIIO, YUCIIO, HAKJIOHEHHE, 3ajor. [ 1aron B JUYHOM
dbopmMe BBIOJIHSIET B MPEAIOKEHUN (PYHKIHIO ckazyemoro. K HelndyHbIM
dopmam rnarona otHocstcs nHGuauTHB (The Infinitive), mpuaactue (The
Participle) u repynauii (The Gerund). OHu BbIpaXkaroT acHcTBHEC 0Oe3
yKa3zaHusl JINIA, YUCJIa U HAKJIOHEHMUSI.

I'maron B aHIJIMMCKOM SI3BIKE MMEET JBa 3ajora: ACHCTBUTCIbHBLIN
(The Active Voice) u crpagatenbhbiii (The Passive Voice).

JIeNCTBUTENBHBIM  3JIOT  yKa3blBAET HA TO, 4YTO JCUCTBUE
COBEPIIACTCS MOJICKAITAM:

We subscribe to newspapers. — Mbl BBIITHCHIBAEM Ta3€ThI.

CrpanarenbHbIi 3a10T YKa3bIBA€T HA TO, YTO JEUCTBUE COBEPIIAETCS
Ha/Jl OJIEKAIMM APYTUM JIMLIOM WU ITPEIMETOM:
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subscribed by us. — Dtu rasers

These newspapers are
BBIITMCHIBAKOTCS HAMU.

['maron umeeT Tpu OCHOBHBIE (OpMBI: mepBasi popMa — HHPUHUTUB
(The Infinitive), BTopas ¢dopma — mporieaiee HEOMPEACIICHHOES BpeMs
(Past Indefinite) u Tperbs popma — mpuYacTHE MPOIICIIICTO BPEMCHH
(Past Participle). Onu ciyxar s 0Opa3oBaHUS TPOCTBIX M CIOMKHBIX

IJIaroJibHBIX (HOpM (B COUETAaHUU C BCIIOMOTaTEIbHBIMU TJIar0JIaMu).

I I i
Infinitive Past Indefinite Past Participle
do did done
come came come
report reported reported
write wrote written

§8 BugoBpemennbie popmbl ri1arosa. Tadauma Bpemen Indefinite,
Continuous, Perfect (The Active Voice)

Indefinite Continuous Perfect
(uuduanTHB O3 t0) | (to be + Participle | | (to have + Participle
i Vq) Il uu V3)
Present | | study. | am studying. | have studied.
She studies She is studying. She has studied.

We are studying.

Do you study?
Does she study?

Are you studying?
Is she studying?

Have you studied?
Has she studied?

I don’t study.

She doesn’t study.

| am not studying.
She is not studying.
We are not studying.

I haven’t studied.
She hasn’t studied.

Past | studied. | was writing. | had studied.
(TpaBUIIHHBIN) We were studying. | She had written.
She wrote.
(HerTpaBUILHBINH )

Did you write?
Did she study?

Were you writing?

Had you written?

I didn’t write.

I wasn’t studying.
We weren’t writing.

I hadn’t written.
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Future | I shall/will study. | shall/will  be |l shall/will have
She will study. studying. studied.

She will be | She  will have
studying. studied.

Will she study? Will she be | Will she have
studying? studied?

I shan’t/won’t study. |[I shan’t/won’t be |[I shan’t/won’t have
studying. studied.

C dopmoit Present Indefinite ymorpeOnsroTcss BpeMEHHBIC
unaukaropsl always, often, usually, seldom, sometimes, ever, every day
(week, year u 1.1.), as a rule u npyrue;

¢ dbopmoii Past Indefinite: yesterday, last week, last time, the other
day, long ago, in 2006, B Bopocax ¢ when;

¢ ¢opmoit Future Indefinite: tomorrow, next week, in a year, soon,
two days later;

c ¢opmoit Present Continuous: now, still, at present, nowadays,
today:

¢ dpopmoii Past Continuous: the whole day, at that time, yesterday,
from 3 till 6 o’clock, when he came;

¢ dopmoii Future Continuous: at 5 o’clock tomorrow, this time next
week, when he comes;

c dopmoii Present Perfect: ever, never, already, just, yet, recently,
lately, this week;

¢ ¢popmoii Past Perfect: by 5 o’clock, before, when he came;

¢ dhopmoii Future Perfect: by next week, tomorrow by 5 o’clock.

§9 Mecroumenue (The Pronoun)

MecronMeHreM Ha3bIBa€TCS 4YacTh pPEYH, KOTopas ymnorpedssercs
BMECTO UMEHH CYIIECTBUTEIBLHOTO U IPUJIAraTeIbHOTO.

Mecronmenus MOJIPA3ICISAFOTCS Ha: 1) JINYHBIE, 2)
OPUTSKATENbHBIE, 3) BO3BpATHBIE, 4) yCUIIUTENbHBIE, 5) yKa3aTelbHbIE, 6)
BOIIPOCUTEIIbHBIE, 7) HEOMNpEJeNCHHbIe, §) OTHOCUTENbHbIE, 9)
OTpHIIATEbHBIE.
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JInunbie [TputskaTenbHbIe Bo3ssparHsbie
MMCHUTECIIbHBIA | OOBCKTHBIM | 3aBUCHUMas | aOCOJIOTHAs
naJIexK naJIexK dbopma dbopma
KTO? 4YTO? KOro? Komy? yen? qyen?
I me my mine myself
you you your yours yourself
he him his his himself
she her her hers herself
it it its its itself
we us our ours ourselves
you you your yours yourselves
they them their theirs themselves

Yka3zareJabHbIEe MECTOMMEHUS

EnuncrBeHHOE 4nCIO

MHOXECTBEHHOE YHCJIIO

this — oror, 3Ta, 9TO these — atu

those — te

that — ror, ta, TO

This is an article. — DTo cTaTss.
That report is important. — ToT oT4eT BakeH.

Heonpenesennbie MecTouMeHnsi SOMe, any, No

Heomnpenenennsie MecTOMMEHUST SOME M any OOBIYHO OMNPEEIISIOT
CYILIECTBUTEIBHOE, 3aMEHSIS1 YaCTO aAPTUKIIb.

Some, kak TmpaBwiIO, YHOOTPeOJseTCS B  yTBEPAUTEIHHBIX
IPEIOKEHUAX CO 3HAUCHUEM: a) KaKOW-HHOY/lb, HECKOJIBKO, HEKOTOPHIE,
HEMHOTHE, KaKo-To; 0) MpUOIU3UTEIbHO, OKOJIO.

Some articles are very interesting in this newspaper. — HexoTtopsie
CTaTb OYCHb MHTCPCCHLBIC B DTOU Ta3erTe.

Pass me some salt, please. — IToxxainyiicTa, mepeaaiite MHE (HEMHOTO)
COJIN.

B BompocuTenbHBIX MpeIoKeHUs X co 3HaueHneM HemHoro: Can |
have some juice?
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Any co 3HaYeHUEM HECKOJIbKO, HEMHOTO YIOTPEOIsSeTCS:

1) B BOIPOCUTEIIBHBIX MPEIOKEHUSAX

Are there any students in the classroom?

2) B OTpULIATEIbHBIX IIPEII0KECHHSIX

There aren’t any students in the classroom.

3) B yTBEpAUTEIbHBIX MPEI0OKEHUAX CO 3HAUEHUEM «JTFO00»:

Any student must know it.

NO co 3HaueHHEM HECKOJILKO YHOTpe6JI$IeTC${ B OTpHLOATCJIbHBIX

NPpCAIOKCHUAX

There are no students in the classroom.

IIpousBoaHbIe OT MECTOUMEHHUH SOME, any u NO

some Any no
something — d4ro-to, | anything — yto-anOyne | Nothing —  HuuToO,
YTO-HUOY1b, UTO-TTNO0 HUYETO

somebody — xTo-TO,
KTO-HUOY1b, KTO-JTHOO

SOmeone — KTo-To, KTO-
HUOY1b, KTO-JTHOO

somewhere — rge-To,
rae-Huoy b, KyJa-
HUOY b

anybody — kro-HuOYyIb,
KTO-TO

anyone — KTO-HUOY/b,
KTO-TTH00

anywhere — rae-nmuoo

nobody — HukTO

no one -
HHUKOI'O

nowhere —
HUKYyJa

HUKTO,

HUT]IC,
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§10 Mopsinox cioB B mpeasioxenuu (The word-order)

AHTIIIMICKOE TMOBECTBOBATEIBHOE MPEAJIOKEHUE XapaKTepU3yeTCs
TBEPABIM MOPSAKOM CJIOB: Ha mepBomM Mecte (1) — momjexaiiee, Ha
BTOPOM MecTe (2) — ckazyemoe, Ha TpeTbeM MecTe (3) — JIOMOJIHEHUE, Ha
YeTBEPTOM MecTe (4) — 00CTOATENHCTRO.

I I Il IV
noaJjexKauiee CKazyemocC JOITOJIHCHUC 00CTOSITEIILCTBO
We study English at the Institute

§11 OTpunartesibHbIE M BONPOCUTEIbHbIE MPEIJI0KEHUS
(The Interrogative and Negative Sentences)

OTpHIaTenbHbIe TPEII0KECHHUS CTPOSATCSA IO OOIIEMYy IpPaBHITY
nopsaaka cnoB: IL.C.JI.O. Ilpm 3TOM CKazyemoe OTpULIATEIBHOTO
MIPEITIOKECHUS BCETIa COCTOUT U3 TPEX AJIEMEHTOB:

1. CBS3KM — BCIIOMOTaTEIbHOTO MJIM MOJIAJILHOTO TJIaroJia;

2. oTpunaHus Not;

3. CMBICJIOBOTO TJIarojia Wik UMEHHOM Y4acTH CKa3yeMoro.

Jliiss 00pa3oBaHus OTPUIATEIBHONW (DOPMBI IJIAr0JIBHOI'O CKa3yeMOro
B Present m Past Indefinite B kauecTBe BcmoMoOraTrempHOTO TJIaroja
ynotpebnsercs timaron to do B dopmax: do, does mms HacTosmero
BpeMeHH ¥ did 1y1s mpomeiero.

I1. C. L. 0.
Man cannot fly like birds.
You may not smoke in public.
Our students do not study French.
He does not watch | television in the evening.
It will not snow in summer.
Copper Is not a liquid.
We did not go to the theatre last week.
He has not read the book yet.

B aHrnumiickomMm s3bIK€ €CTh 4YeThIpe THIIA BOIPOCOB: OOIIHE,
CIELIMAJIbHBIE, AJIbTEPHATHBHBIE W pa3JelIUTENbHbIE. BompocuTenbHbIe
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MPEJIOKEHUS HMMEIOT OOpaTHBIM TOPSAOK CJIOB, KOTOPBIA IO CBOEH
CTPYKTYPE OTJIMYAETCS OT MMOBECTBOBATENBHBIX MPEIIOKECHUI.

Obwue sonpocwt (General Questions). OHM OTHOCATCS KO BCEMY
MPEAJIOKEHUIO U TpeOyIoT oTBeTa Na uiau HeT. OO0mme BOMpOChl BCeraa
HAa4YMHAIOTCS C TJIarojia:

Does he live in London? — Yes, he does. No, he doesn’t.

Cneyuanvuvie sonpocwt  (Special  Questions). D10  BompocHl,
OTHOCSIIUECSA K KaKOMY-TH00 WieHy mnpeaiokeHus. OHM HAYMHAIOTCS C
BOMPOCHUTEIbHOrO ciioBa WhO? kmo?; whom? xoco? xomy?; what? umo?
kakou?; When? xoeoa?; where? zoe? xkyoa?; why? nouemy?; how long?
CKOIbKO 8peMenu? W JIp. U TPEOYIOT MOJIHOTO OTBETA.

What are you doing now? — Uto BbI ceiiuac jenacte?
| am reading a newspaper. — 51 yuTaro rasery.

[Tpu Bompoce K IMOUIeKAIIEMY HIIA €ro OMPEACICHUI0 COXPAHICTCS
IPSMOI MOPSJIOK CI0B. BMecTo mojjiekaIiero cTaBaTcs BOIPOCUTEIbHBIC
MectouMeHnus Who kmo v What umo, komoputii.

Who speaks English in your family? — Kto roBoput mo-anrnuiicku B
Balle cempe?
What makes you think so? — YUro 3acraBinser Bac Tak qymMaTh?

Anbmepnamusnsie eonpocwl (Alternative Questions). 9To BOIPOCHI,
COCTOSIIIIME W3 JIBYX OOIIMMX BOIPOCOB, COCIUHEHHBIX COIO30M OF, H
IIPEATIOJIaral0T BO3MOXKHOCTh BEIOOpA:

Do you or does your friend study at the Institute? My friend studies
at the Institute. — Ber mnm Bam apyr ydwmrtcs B MHCTHUTYTe? Mo npyr
Y4UTCA B UHCTUTYTC.

Pazoenumenvuvie  6onpocwer  (Tail, or Disjunctive Questions).
PasmenurenpHblii BOOPOC TPpeOYeT MOATBEPKACHHUS (YTBEPAUTEIHHOIO HIIH
OTPHUIIATEILHOI0) TOTO, O YeM TOBOPUTCI B IEPBOM  YacTh
BOIPOCUTEIBHOTO MPETOKCHHUS.
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Bo Bropor wyactu mMOBTOPSETCS TOT BCHOMOTATEIbHBIA WU
MOJIQJIbHBIN TJ1aroJ, KOTOPbIM BXOJUT B COCTAaB CKa3yeMOI'0 IMEPBOU YaCTH.
Ha pycckuii 3b1k OH IEpEeBOAUTCS CIOBAMU: HE TaK JU? HE mpaBaa jau’?

She left for Moscow yesterday, didn’t she? — Ona Buepa yexana B
MockBy, HE Tak Jau?
You don’t get up early on week-days, do you? — Bel He BcTaeTe paHO
B BBIXOJIHBIC JTHU, HE TIpaB/a Jjau?

Oo6pasyercs — to have + Participle 11 / V.

§12 Bpemennas mapa Present Perfect / Past Indefinite

Have
How
long
Who

| fve (have)| found a good job. BpeMs
COBEPIICHUSA
JICUCTBUS HE
YKa3aHO
She has | brought | this beautiful pe3yabTaT
vase from Italy| cosepmenHoro
to her cottage in JIEHCTBUS B
the country. IPOILIOM HAJIMIIO
B HACTOSIIINHI
MOMCHT
We |‘ve (have) signed |a contract this neicTBHe
morning (week, | OKOHYHIIOCH, HO
month, today, | mepuo BpemeHH,
etc). K KOTOPOMY OHO
OTHOCHTCH,
IIPOJIOJIKAETCS
They | haven't | seen each other for
He | hasn’t | been long.
to London since
2002.
You have seen him,
haven’t you?
they been
have you been
has ever been
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C Present Perfect moryr ymorpeOisaTbcss BPEMEHHBIC WHIMKATOPHI
already, yet, never, ever, so far, just, often, always, lately, recently u 1.1., a
takoke npemioru for u since.

Past Indefinite

Ted made his report | after he returned neicTBHe
from his trip to | 3aBepmmiocs B
India. oTnpeIeIeHHbBIN
She came home late at night. MOMCHT B
MIPONIJIOM
He bought a book opened it and HEPCUMCIICHUE
began to read. | mocinemoBaTen-
HBEIX JICUCTBUI B
IIPONIJIOM
She didn’t home late at night.
come
Did | she come home late at night?
Who came home late at night?
When | Ted make his report on India?
did
Past Indefinite  ymoTrpebmsieTcs ¢  TakuMH  BPEMCHHBIMH

uHanKaTopamu kak yesterday, the day before yesterday, last year (week,
month), last time, last night, the other day, two days ago, during the
holiday (vacations, summer, etc.), a Takxxe B Boripoce ¢ When.

§13 Ctenenu cpaBHeHus NpujarateabHbIX 1 Hapeunii (The Degrees
of Comparison). Umst npuaarateabHoe (The Adjective)

Bunrel [TonoxurenwsHast | CpaBHutenbHasa | lIpeBocxomHas
IMpuIaraTCJIbHbIX CTCIICHDb CTCIICHb CTCIICHDb
OIHOCIIOXKHEIC large Larger the largest
HpHJIaraTeJIbHbIC happy happier the happiest
U JIBYCJIOXKHBIC big bigger the biggest
npujaraTelbHbIC, clever cleverer the cleverest
OKAaHYHBAIOIINUCCA
Ha —Y, U Ipyrue
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JIByCIIO)KHBIE | beautiful more beautiful most beautiful
MHOT'OCJIOKHBIC splendid more splendid most splendid
IprJIaraTeJIbHbIC active more active most active
HckimoueHust good Better the best
bad worse the worst
many, much more the most
little less the least
far farther the farthest
§14 Hapeumne (The Adverb)
Buner napeunit | [lonoxutensHast | CpaBuurensHas | I[IpeBocxonnas
CTCIICHDb CTCIICHDb CTCIICHDb
OHOCIIOXKHBIE soon Sooner soonest
HapCUMs (a fast faster fastest
takke early) late later latest
early earlier earliest
JIByCIIOKHBIE U brightly more brightly most brightly
MHOTOCJIOKHBIC slowly more slowly most slowly
NpUJIaraTCJIbHbIC
Hckimrouenns well Better best
badly worse worst
much more most
little less least
far farther farthest

ITocne mnpunaratenbHBIX W HApEYMid B CPABHUTEIBHOM CTENEHU
ynotpebnsercst coro3 than; mocme mnpwiraraTenbHBIX W Hapedyuidl B
NPEBOCXOJHONW CTEIEHW 4YacTo ymhoTpeonsrorcs mpemtoru  Of, in,
OTHOCHTEIhLHOE MecTonMeHue that, Hapeuue ever u T.11.
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§15 Ums yucaureannoe (The Numeral)

O6pa30BaHHe N HAIIUCAHUC KOJIHNYCCTBCHHBIX W IIOPAAKOBBIX

YUCJIIUTCIIbHBIX:
KosmuecTBeHHbIE ITopsinkoBbIe
1-12 13-19 20-90 the first
1 one
2 two 20 twenty the second
3 three thirteen 30 thirty the third
4 four fourteen 40 forty the fourth
5 five fifteen 50 fifty the fifth
6 SiX sixteen 60 sixty the sixteenth
7 seven seventeen 70 seventy the seventieth
8 eight eighteen 80 eighty
9 nine nineteen 90 ninety
10 ten
11 eleven
12 twelve

[Mepen umcnurensHabiMu  hundred, thousand, million craBuTcs
HEOTPe/IeIICHHBIA apTUKIIL & WK YHCIUTEIRHOE 0Ne: a (one) hundred cmo,
a (one) thousand meicsiua. Yncnurensasie hundred, thousand, million ue
MMEIOT MHOXeCTBeHHOro uucia: S5 hundred namwscom, 50 million
namvoecsim MUuLIUOHO8, HO OHH TIPUHUMAIOT OKOHYaHUE MHOXECTBEHHOTO
YHciIa -S, €CJIM YHOTPEOJAIOTCS B 3HAUYCHUH CYIIIECTBUTEIIBHBIX.

Millions of people in the world stand for peace. — Mumnons! mroei
B MHMPC BBICTYHAIOT 32 MHP.

B anrnuiickoM s3bIKe pa3psiapl uncen oTaensaroTes 3amsatou: 1,000 —
a thousand; 1,000,000 — one million. [decsatuunble ApOOH OTIACISIOTCS
Toukoi 1.5 — one point five. B mpocThIX ApoOSX YHUCIUTETHh BhIpaKacTcs
KOJIMYECTBCHHBIM YHCIIMTEIILHBIM, a 3HAMEHATeIb IMOPSAKOBBIM: Y2 - &
(one) half; %/ — two thirds; 4°/¢ — four and five sixths.

CyIIeCTBUTEIIBHOE, CIICAYIONIEe 3a YHUCIUTCIBHBIM, YIOTpeOIsIeTCs
0e3 mpemitora: eight students socems cmyoenmos n T.11.

[Tpou3BOAHBIE KOJIMYECTBCHHBIC YHCIHTEIbHBIC IHIIYTCA dYepes
neduc: 23 twenty-three; 45 forty-five; 736 seven hundred and thirty-six.
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I'ogel 0003HAYAIOTCS KOJUYECTBEHHBIMUA UYHCIUTEILHBIMU: 1994 —
nineteen ninety-four; 2012 — two thousand and twelve.

§16 Cnoco0bl Boipaskenusi oyayiero Bpemenn (The Future Tenses)

B aHrimiickoM si3bIK€ MPUMEHSIOTCS CIIEIYIONIUE BUJIOBPEMEHHBIC
(bopMBbI 17151 BEIpXKEHUS Oy IyIIIEro JeHCTBUS:

1. Future Indefinite — nmeficTBHe IPOM30MIET B KAKOH-TO MOMEHT B
OyTyIIIeM.

Bpemennsie ungukaropsl. tomorrow, the day after tomorrow, two
days later, next week, in a year, soon, in spring, in 2012.

She will go to Spain next year. — Ona moemer B Mcmanuio B
CJICIYIOILEM TO/IY.

2. Present Indefinite, o6o3HayaeT aelicTBUE, KOTOPOE 00S3aTEILHO
IMPOM30HACT B OyIylIeM II0 PacIUCaHHIO, COCTAaBICHHOMY TrpaduKy, B
COOTBETCTBHUH C IJITAHOM HJIH IIPOrPaMMO.

The train arrives at 10 o’clock tomorrow. — IToe3a nmpuOyaeT 3aBTpa
B 10 yacos.

Our next meeting is on Friday. — Hama cnemyromas BcTpeda
COCTOUTCS B MATHUILY.

3. Present Continuous B 3HaueHuM Oy ayIiero o0o3HavaeT JACHCTBHE,
3aIIaHUPOBAHHOE TI0 JIMYHOW JTOTOBOPEHHOCTH WJIM 3apaHee MPUHATOMY
ITa"y (4amie ¢ TJIaroJamMu JBWDKEHHs, a TakKe ¢ IyiarojamMu Mmeet, see,
have, take, give, get, do, work).

We are going to the cinema tonight. — MbI uaemM B KMHO CeroaHs
BCUEPOM.

4. Konctpykuuss to be going to + Infinitive cobupamscs,

Hamepesamvcsi 03HAYACT, YTO PEIICHNUE O BBIIOJHECHUN JICHCTBUS IPUHSITO
3apaHee.
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He is going to take part in the conference. — Ou coOupaeTcst IPUHATH
ydacThe B KOH(PEpeHIUH.

5. B npuaaTo4HBIX NPEIIOKEHUSX BPEMEHH W YCIOBHUS TOCIHE
coro3oB If, when, as soon as, till, until, before, after, in case mis
oOo3HaueHus Oyayiiero BpemMeHH ynorpeOnsercs Qopma Present
Indefinite.

He will pay back when he gets money. — On paccumraercs, korma
MMOJIY4YHUT OCHBI'U.

Ho ecnu NpuAATOYHOC IIPCHJIOKCHHUC  BbIIIOJIHACT (I)YHKLII/IIO
AOIIOJIHCHUS MW OTBCYACT HA BOIIPOC «4T0o? t—ICFO?», TO OHO COXPAaHsCT
dopmy Future Indefinite.

I will tell you when she will come. — I coobury Bam, korma oHa
MpHUICT.

§17 Monaasnsie raaroasl (Modal Verbs)

MopanbsHble raaroyisl must, can, may ynoTpeosisitoTcsi B COYETaHUH C
MH(QUHUTHUBOM CMBICJIIOBOTO riaroya 0e3 yactuiibl t0. OHu HEe 0003HAYAIOT
JEUCTBUE, a BBIPAXKAIOT OTHOIIIEHHUE K JEHCTBUIO. MoaabHbIe T1aroybl He
MMEIOT HEJMYHBIX (OPM Ijaroiia, H¢ UMEIOT BCEX BPEMEHHBIX (OpM, HE
M3MEHSIOTCS 10 JIUIaM W 4YuciaM, HE UMEIT (POpM MOBEIUTEIBHOIO
HAKJIOHCHUS.

Must  BepaxkaeT  HEOOXOJUMOCThb,  JOJDKEHCTBOBAaHUE  WJIU
BEPOSTHOCThH COBEPIIICHUS ACHCTBUS:

You must do it today. — Bel 7OKHBI c1enaTh 3TO CETOTHS.

The baby must be sleeping. — Pe6enok, 70KHO OBITh, CITHT.

| think he must have already finished this work. — I mymaro, uro on
yKe JIOJKEH ObLII 3aKOHYUTH 3Ty padoTYy.

Can BeIpakaeT BO3MOXHOCTb, (PU3MYECKYIO WJIM YMCTBEHHYIO
CIIOCOOHOCTBH COBEPIIICHUS JEUCTBUSA:

He can play tennis. — On moxeTt (yMeeT) urpath B TCHHUC.
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May BbIpaxkaeT pa3pelieHue, a TaKKe€ BO3MOXKHOCTb, BEPOSITHOCTH
COBEPILICHUSA NCUCTBUS:

We may call you tomorrow. — MsI MOXeM HO3BOHUThH BaM 3aBTpa.

He may have seen her between 10 and 10.30. — OH, BO3MOXHO,
BcTpeyancsa ¢ Heu mexay 10 u 10.30.

May | go out? — Mo>XHO BBIUTH?

['maron must umeet auiib GopMy HACTOSIIETO BPEMEHHU.
['maronpl Can u May uMeroT Takxke (popMy MpOIICANIero BPEMEHU
could u might.

| could do that work. — £ cmor caenats 3Ty padory.
These facts might throw some light on the problem. — Otu dakrel
MOTJIA OBbI MPOJIUTH HEKOTOPKIN CBET HA TPOOIEMY.

Bonpocutensnas  gopma  oOpazyeTcss  myTeM  MOCTAaHOBKH
MOJAJBLHOTO TJjarojla Iiepel MOoJIeKaIlluM, a OTpUIaTeabHas —
MMOCTAaHOBKOW YaCTHITHI NOt IMociie MOTaIbHOTO TIIaroJa.

May your friends wait for you? — TBom napy3ps MoOryt TeOs
MOJ0KIaTh?

They cannot change their plans. — OHu He MOTYyT U3MEHHTH CBOM
IUTaHBL.

B kauyecTBe MOMANBbHBIX TJIAr0JIOB YIOTPEOJISIFOTCS TAKXKE TJIarojibl
ought to u should.

Ought to ynorpebisercs ajisg BhIpa)KEHUS MOPAJIBHOrO J0JTa HIH
COBETa, OTHOCSIIIIETOCS K HACTOSIIEMY WIH OyayIeMy BPEMEHH:

They ought to helps him. — Ouu gomxHBI (MM clieIyeT) IOMOYb EMY.
You ought to be ashamed of yourself. — Bam cieayer cThiiuThes.

Should BeIpaxkaeT cmalOyro cTemeHb JOJKCHCTBOBaHUSA (110
CpaBHEHHIO C MUSt) 1 MEPEBOTUTCS ciedyem, HAOeHCUN.

You should sign this contract. — Bam cieayer moamucaTh 3TOT
KOHTPAaKT.
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§18 Crpanarenbhslii 3ai0r ( The Passive Voice)

JleiicTBue, coBeplIacMoOe HaJ JIMIOM WU IPEAMETOM, BBIPAXKACTCSA
CTpaJaTeNbHbIM 3aJIOTOM.
B aHrnumiickoM s3bIKE€ CTpajaTelbHBIM 3ajor oOpa3yercs IIo

MpaBUILY:

to be + Participle 11 / V3,

rae  riaron to be ykaswiBaer Ha BpeMs IEHCTBUS U COTJIACYeTCS B JIMIIC H
YHCIIC C TIOIJICKAIIIHAM,
Participle Il y mpaBuiabHBIX TIIarojioB oOpasyercs ao0aBlieHHEM
okoHYaHUs -€d K OCHOBE IJIaroja, a Jiisl HeMpPaBUIbHBIX IJ1arojioB —
CMOTPHUM TaOJIUITy HEMPABUIHHBIX TJIArOJIOB.

Hanpumep: to be tested; to be done; to be written

Tenses Indefinite Continuous Perfect

Present | Devices are tested. | The device is being | The device has been
(always, often, | tested in the lab. (at|tested in the lab.
every week) present) (just now, already)

Past Devices were tested. | The device was | The device had been
(last week, a year|being tested in the | tested. (by 7 o’clock
ago) lab. (when we came, | yesterday)

at 5 0’clock
yesterday)

Future | Devices will be — The device will
tested. have been tested by
(tomorrow, next Monday next week.
week) (by 2  o’clock

tomorrow)

Ha pycckuit s3bIK  TJ1aroJjbl

ICPCBOANTHCA:

B CTpadaTCiIIbHOM 3aJIOr¢ MOIyT

1. couetaHueM rijaroia Owvims C KpaTKod (opmoil cTpaaaTeaIbHOTO
MPUIACTHS:
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The article was published in the local paper. — Crarbs Oblia
HalleyaTaHa B MECTHOM ra3eTe.

2. TAYHBIMU (hOpMaMHU IJ1arojioB Ha -cs (Cb):

English is studied by our students. — AHrnmiicCKuii SI3BIK W3ydaeTcs
HAIlIUMU CTYJICHTaMH.

3. TJIarojiIoM-CKa3yeMbIM B COCTaBE€  HEOIPEACICHHO-JIMYHOTO
MIPEIJIOKECHUSA:

He was offered a good job. — Emy nipennoxxuinu xoporyio padoTy.
That new film is much spoken about. — O6 sTom HOBOM (uiTEME
MHOTO TOBOPSIT.

Ecin HeoOXomuMoO yKa3aTh JIMIO WM TIPEIMET, COBEPIIAIOIINE
JICUCTBUE, TO YIOTPEOJSAIOTCS CYIIECTBUTEIbHBIC WM MECTOMMEHHS C
npeaioramMu by wim with:

The telephone was invented by A. Bell. — Tenedon 6b11 m300peTeH
A benmom.

§19 DkBuBajenTH MOAAJBHBIX Iy1aroJioB (The Equivalents of Modal
Verbs)

MopansHble raarosisl must, can, may He UMEIOT BCEX BPEMEHHBIX
dbopm,(Must umeer TOmbKO (QopMy HacTofAlero, a can u may GopMbl
HACTOSAIIETO W MPOIIeAero BpeMeHn). OTCyTCTBYIOIINE BUAOBPEMEHHBIC
(hOpPMBI TOTOJHSIOTCS X YKBUBAJICHTaAMU.

Hapsimy ¢ must u B3ameH HemocTamommx ¢QopMm ynorpeonsercs
rnarou to have +Infinitive.

| have to get up early on week-days. | B OymHu4Hble JHH S JIOJDKCH
BCTaBaTh PaHO.

When my mother was ill | had to | Korga mama Oonena, MHE IPHIIIOCH
look after my little sister. 3a00TUTHCS O MIIAIIICH CecTpe.
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You’ll have to do this task yourself. | Ber mgomkHBI OymeTe BBIIOJIHUTH

3alaHUuC CaMU.

DKBUBAJICHTOM IJlarosja can sisisiercs riaroi to be able (to).

You will not be able to see him|Bsr He cMmoxeTe yBHAETH €rO
before Sunday. paHbIIIe BOCKPECCHbSI.

Jns rmarona May B 3HAYEHUH PA3PELICHUs UCIOJb3yeTCs riaroi to
be allowed to.

We will be allowed not to attend
lectures tomorrow.

Ham pazpemiar He mnocemars
JICKLIUY 3aBTpa.

Verb must - to have to can - to be able to
tense
% 5 [lhave to (I, you, we, (1) am
g | 2 ey) S | (he, she, it) is able to
(a
has to (she, he, it) (you, we, they) are
@ o (1, he, she, it) was
0 had to = able to
© | (you, we, they) were
@ shall shall
= } have to be able to
LL will will
Verb may - to be allowed to
tense
= () am o
3 = | (he, she, it) is allowed to
5 = (you, we, they) are
o — | (I, he, she, it) was
2 |5 allowed to
o £ | (you, we, they) were
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shall

Future

will

be allowed to

§20 IIpsimasi 1 KOCBEHHasI peYb

(The Direct and Indirect Speech).

IIpaBuaa coriacosanus Bpemen (The Sequence of Tenses)

[Ipsimast pedb — 3TO peyb, MPUHALJIEKAIIAS TOBOPALLIEMY.

KoceenHas peubp — 3TO mepenada BBICKA3bIBAHWS APYToro juna. B
KOCBEHHOU peun coO0aoTCs MpaBuila COrJacOBaHUs BPEMEH.

KocsenHas peub nepenaercs npu NOMOIIHA TIABHOTO MPEIIOKECHUS U

AOIIOJIHUTCIIBHOI'O, MPHUAATOYHOTO

NpCAJIOKCHUA. Onu COCAUHAIOTCA

coro3amMu U Coro3HbIMM cioBamH that, what, how, why, whether (if), when

Ui OECCOI03HO.

[Ipsimast peun

KocBennas peub

The girl said “I am a student”.

The girl said (that) she was a
student.

Jane said, “I was at the theatre”.

Jane said (that) she had been at
theatre.

The professor said “The exam will
be held tomorrow.

The professor said that the exam
would be held the next day.

[Mpy mepemayu MpUKa3aHUS
MeHsieTcs Ha to tell.

The chief said to the secretary,

“Bring some tea”.

B KOCBEHHOM peuu riaron {0 say

The chief told the secretary to bring
some tea.

Ecmm mpock0a, To riaron to say meHsercs Ha riarod to ask.

He said, “Give me the

please”.

OtpunarensHas ¢opma 3aMeHsiercs Ha hot to +

COOTBCTCTBYIOLIICTO I'JIaroJja.

book,

He asked me to give him the book.

infinitive
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She said, “Don’t go there with him.” | She asked me not to go there with

him.

OO0t BOIIpoc mepeaacTcsl B KOCBEHHOH peun nipu rmomortiu Whether
wnu If.

He asked me, “Have you packed | He asked me whether (if) | had
your things?” packed my things.

Bpemena 3aMeHsItoTCS TNpU Tepeaadd MPSMON PedH CICTyONUM
obpazom:

Present Indefinite — Past Indefinite — | do — I did

Present Continuous — Past Continuous — He is doing — He was doing

Present Perfect — Past Perfect — We have done — We had done

Past Indefinite — Past Perfect You did — You had done

Past Continuous — Past Perfect Continuous — | was doing — | had
been doing

Future Indefinite — Future — in — the Past — They will do — They
would do

Taxxxe MEHSIIOTCH.

here — there; this — that; these — those; now — then; today — that day;
tonight — that night; yesterday— the day before yester day; two days ago —
two days before;

last night — the previous night; tomorrow — the next day; next week —
the next week;

in @ month — a month later.
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